
PHYSICS

BOOKS - PEARSON IIT JEE FOUNDATION

MEASUREMENTS

Very Short Answer Type Question Fill In The Blanks

1. 10 g of water occupies____  of volume

Watch Video Solution

cm3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uP8KTNtcSrq9


2. The mass of a body does not change with change in

_____.

Watch Video Solution

3. The CGS unit of pressuure ______.

Watch Video Solution

4. As the temperature of the gas decreases, its

density_____.

Watch Video Solution

https://dl.doubtnut.com/l/_GbtCx6RT2yUV
https://dl.doubtnut.com/l/_Jr8uerwxc1tR
https://dl.doubtnut.com/l/_8Bv6dPOpPlEc
https://dl.doubtnut.com/l/_KBIFdDXP7spO


5. The smallest length that can be accurately measured by

using a metre scale is_____ cm.

Watch Video Solution

6. Density of water is_____than the density of cooking oil.

Watch Video Solution

7. Weight of a body varies according to the variation in

the______.

Watch Video Solution

https://dl.doubtnut.com/l/_KBIFdDXP7spO
https://dl.doubtnut.com/l/_AaHSStvmrZrd
https://dl.doubtnut.com/l/_2IMxkIIwIl5V


8. The CGS unit of volume is____.

Watch Video Solution

9. The density of a body is 500 kg . Then its

equivalent value in CGS system is______.

Watch Video Solution

m− 3

10. The area of a square plot is 100 . Then the value of

its perimeter is____m.

Watch Video Solution

m2

https://dl.doubtnut.com/l/_FaMZcpbPnPii
https://dl.doubtnut.com/l/_A3NUL4JsPkXK
https://dl.doubtnut.com/l/_CeiXdoUtQKQz
https://dl.doubtnut.com/l/_t1Qf1AIKzKoK


11. 10 g of water occupies____  of volume

View Text Solution

cm3

12. The mass of a body does not change with change in

_____.

Watch Video Solution

13. The CGS unit of pressuure ______.

Watch Video Solution

https://dl.doubtnut.com/l/_t1Qf1AIKzKoK
https://dl.doubtnut.com/l/_qVDM6yWGdCk2
https://dl.doubtnut.com/l/_MsbJX28cc2EN


14. As the temperature of the gas decreases, its

density_____.

Watch Video Solution

15. The smallest length that can be accurately measured

by using a metre scale is_____ cm.

Watch Video Solution

16. Density of water is_____than the density of cooking oil.

View Text Solution

https://dl.doubtnut.com/l/_tedmdovRqwk0
https://dl.doubtnut.com/l/_WZczjKrgIwRW
https://dl.doubtnut.com/l/_cVFFRyBLF2xq
https://dl.doubtnut.com/l/_Oj6UlJccC8oB


17. Weight of a body varies according to the variation in

the______.

Watch Video Solution

18. The CGS unit of volume is____.

Watch Video Solution

19. The density of a body is 500 kg . Then its

equivalent value in CGS system is______.

Watch Video Solution

m− 3

https://dl.doubtnut.com/l/_Oj6UlJccC8oB
https://dl.doubtnut.com/l/_5zrr77xusPuL
https://dl.doubtnut.com/l/_lwXsJRuZX6cy


Very Short Answer Type Question Mcqs

20. The area of a square plot is 100 . Then the value of

its perimeter is____m.

Watch Video Solution

m2

1. The smallest measurement that can be measure by

using a wall clock is _____.

A. 1 second

B. 1 minute

C. 1 hour

D. 2 second

https://dl.doubtnut.com/l/_h5Mlk6xfX7SO
https://dl.doubtnut.com/l/_D5DE6engcJf4


Answer: A

Watch Video Solution

2. The length and breadth of a rectangle are 2 m and 5m,

respectively, the area of the reactangle is______.

A. 

B. 

C. 

D. both a and b

Answer: D

Watch Video Solution

10m2

100000cm2

1km2

https://dl.doubtnut.com/l/_D5DE6engcJf4
https://dl.doubtnut.com/l/_XUGQoI2VEPgV


3. If the density of a substance is , then

the mass of 5  of this substances is

A. 1000 kg

B. 10000 g

C. 10000 kg

D. both a and b

Answer: C

Watch Video Solution

2 × 103kg  m− 3

m3

4. The mass of a body of weight 200 gf is _____g.

https://dl.doubtnut.com/l/_XUGQoI2VEPgV
https://dl.doubtnut.com/l/_HhIM2sUTG19U
https://dl.doubtnut.com/l/_IxTzo303xZOU


A. 200

B. 300

C. 400

D. 20

Answer: A

Watch Video Solution

5. A pile of identical one rupee coins are placed over a

metre scale as shown in the �gure. The thickness of a one

https://dl.doubtnut.com/l/_IxTzo303xZOU
https://dl.doubtnut.com/l/_Yhu3Vvx453Zi


rupee coin is_____ 

A. 1.56 mm

B. 1.56 cm

C. 1.67 mm

D. 1.67 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Yhu3Vvx453Zi


6. 5 litre of a liquid weighs 5kgf. The density of liquid

is_____.

A. 1 kg 

B. 1 g 

C. 

D. 

Answer: B

Watch Video Solution

m− 3

cm− 3

100kg  m− 3

100g  m− 3

7. 1 kilogram is equal to _____.

https://dl.doubtnut.com/l/_SZcFexn9UOKo
https://dl.doubtnut.com/l/_9IGldQHdRuqW


A. 1000 gram

B. 100 gram

C. 1000 milligram

D. 100 milligram

Answer: A

View Text Solution

8. Mass is measured by using a______.

A. Spring balance

B. physical balance

C. measuring jar

https://dl.doubtnut.com/l/_9IGldQHdRuqW
https://dl.doubtnut.com/l/_v6qXunQH7bdM


D. metre scale

Answer: B

Watch Video Solution

9. 1 kg =_____.

A. 1000 g 

B. 

C. 10000 kg 

D. 1 g 

Answer: B

Watch Video Solution

m− 3

m− 3

g  cm− 31

1000

cm− 3

cm− 3

https://dl.doubtnut.com/l/_v6qXunQH7bdM
https://dl.doubtnut.com/l/_52Dx5g9BbRQZ


10. The distance between two cities A ad B in a map is 7.5

cm. the scale taken for drawing this map is

1cm=1,50,000m. The actual distance between A and B

is____km.

A. 1125000

B. 20000

C. 200

D. 1125

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_52Dx5g9BbRQZ
https://dl.doubtnut.com/l/_J3Z2D7DmwmhG
https://dl.doubtnut.com/l/_nZwFsvQWL7sg


11. 1 m _____litre.

A. 1

B. 10

C. 100

D. 1000

Answer: D

Watch Video Solution

^ (3) =

12. The whole length of a metre scale is divided into 500

equal parts then the smallest measurement that can be

measured by using the scale is ._______

https://dl.doubtnut.com/l/_nZwFsvQWL7sg
https://dl.doubtnut.com/l/_cFCV8NNdmgHm


A. 0.5 m

B. 0.005 m

C. 50 mm

D. 2 mm

Answer: D

Watch Video Solution

13. Which among the following is (are) the units(s) of

pressure?

A. N 

B. gwt 

m− 2

cm− 2

https://dl.doubtnut.com/l/_cFCV8NNdmgHm
https://dl.doubtnut.com/l/_88LJtYSjisj3


C. kgwt 

D. All of the above

Answer: D

Watch Video Solution

m− 2

14. Which of the following statements is /are correct?

A. The weight of a body can be zero.

B. The weight of a body can be greater than zero.

C. The mass of a body can be zero.

D. both a and b

Answer: C

https://dl.doubtnut.com/l/_88LJtYSjisj3
https://dl.doubtnut.com/l/_ogL6yTMArqj9


View Text Solution

15. Volume of an irregular shaped solid can be measured

by using a____

A. density bottle

B. spring balance

C. measuring cylinder

D. physical balance

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ogL6yTMArqj9
https://dl.doubtnut.com/l/_jkjH5yH2JoKp


16. Which of the following statements is incorrect?

A. As the temperature of gas increases, its volume

increases.

B. As the temperature of a gas increases, its density

decreases.

C. As the temperatrue of a gas increases, its density

increases.

D. both a and b

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_i1BfjuTFeX40
https://dl.doubtnut.com/l/_Z59xXKwoNunr


17. An atlas of a country is shown in the �gure, the

distance between cities A and B is______ 

A. 35 km

B. 3500 km

C. 350 km

D. both a and b

https://dl.doubtnut.com/l/_Z59xXKwoNunr


Answer: C

Watch Video Solution

18. Arrange the following steps in a sequence of �nd the

vlume oof an irregular shaped solid body. 

(A). The irregular shaped solid is tied with the thread and

is lowered into the measuring cylinder. 

(B). A measuring cylinder with graduations in millilitre or

cubic centimetrer is taken. 

(C). The level of water in the measuring cylinder rises after

immersion of the solid. (say )  

(D) First, it is �lled with water to a certain level of volume.

(say )  

(E). The volume of the stone is equal to the di�erence

V2

V1

https://dl.doubtnut.com/l/_Z59xXKwoNunr
https://dl.doubtnut.com/l/_eTLoHkV2UcIx


between the volume of the water before and after the

immersion of the stone. .

A. ABCDE

B. BCADE

C. BDACE

D. EDACB

Answer: C

Watch Video Solution

(V2 − V1)

19. Density of the material of a paper is given a 0.5 g

. The mass of the paper is 1 g and its length and

breadth are 10 c and 5 cm, respectively. Arrange the

cm− 3

https://dl.doubtnut.com/l/_eTLoHkV2UcIx
https://dl.doubtnut.com/l/_tw51Gi0gO38s


following steps in a sequence to �nd the thickness of the

paper. 

(A). The 0thickness of the paper is

  

(B) The density (d) of the material of the paper is

  

(C). then the volume (V) o the paper 

  

(D). The volume (V) of the paper is=length breadth

thickness of the paper.

A. ABCD

B. BADC

C. ABDC

D. BCDA

Volume of the paper (m)

Vlume of the paper (V)

=
Mass of the paper (m)

volume of the paper (V)

=
Mass of the paper (m)

Density (d) of the paper

× ×

https://dl.doubtnut.com/l/_tw51Gi0gO38s


Answer: D

Watch Video Solution

20. The smallest measurement that can be measure by

using a wall clock is _____.

A. 1 second

B. 1 minute

C. 1 hour

D. 2 second

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tw51Gi0gO38s
https://dl.doubtnut.com/l/_Zkj2XcRpOb92


21. The length and breadth of a rectangle are 2 m and 5m,

respectively, the area of the reactangle is______.

A. 

B. 

C. 

D. both a and b

Answer: D

Watch Video Solution

10m2

100000cm2

1km2

22. If the density of a substance is , then

the mass of 5  of this substances is

2 × 103kg  m− 3

m3

https://dl.doubtnut.com/l/_Zkj2XcRpOb92
https://dl.doubtnut.com/l/_sJyVqHfgYTA8
https://dl.doubtnut.com/l/_6ek2DfViAROR


A. 1000 kg

B. 10000 g

C. 10000 kg

D. both a and b

Answer: C

Watch Video Solution

23. The mass of a body of weight 200 gf is _____g.

A. 200

B. 300

C. 400

https://dl.doubtnut.com/l/_6ek2DfViAROR
https://dl.doubtnut.com/l/_8DYcI8zyfJOI


D. 20

Answer: A

Watch Video Solution

24. A pile of identical one rupee coins are placed over a

metre scale as shown in the �gure. The thickness of a one

rupee coin is_____ 

A. 1.56 mm

B. 1.56 cm

https://dl.doubtnut.com/l/_8DYcI8zyfJOI
https://dl.doubtnut.com/l/_lQKq0D3lk6iL


C. 1.67 mm

D. 1.67 cm

Answer: A

Watch Video Solution

25. 5 litre of a liquid weights 5kg. The density of liquid

is_____.

A. 1 kg 

B. 1 g 

C. 

D. 

m− 3

cm− 3

100kg  m− 3

100g  m− 3

https://dl.doubtnut.com/l/_lQKq0D3lk6iL
https://dl.doubtnut.com/l/_Co9H2t7oux1V


Answer: B

Watch Video Solution

26. 1 kilogram is equal to _____.

A. 1000 gram

B. 100 gram

C. 1000 milligram

D. 100 milligram

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Co9H2t7oux1V
https://dl.doubtnut.com/l/_56UlFfKbNRpD
https://dl.doubtnut.com/l/_TywXINHKDiaI


27. Mass is measured by using a______.

A. Spring balance

B. physical balance

C. measuring jar

D. metre scale

Answer: B

Watch Video Solution

28. 1 kg =_____.

A. 1000 g 

B. 

m− 3

m− 3

g  cm− 31

1000

https://dl.doubtnut.com/l/_TywXINHKDiaI
https://dl.doubtnut.com/l/_WoijBGP1kr5K


C. 10000 kg 

D. 1 g 

Answer: B

Watch Video Solution

cm− 3

cm− 3

29. The distance between two cities A ad B in a map is 7.5

cm. the scale taken for drawing this map is

1cm=1,50,000m. The actual distance between A and B

is____km.

A. 1125000

B. 20000

C. 200

https://dl.doubtnut.com/l/_WoijBGP1kr5K
https://dl.doubtnut.com/l/_NlSjLHItESQ2


D. 1125

Answer: D

Watch Video Solution

30. 1 m _____litre.

A. 1

B. 10

C. 100

D. 1000

Answer: D

Watch Video Solution

^ (3) =

https://dl.doubtnut.com/l/_NlSjLHItESQ2
https://dl.doubtnut.com/l/_R320CTI8r4yK


31. The whole length of a metre scale is divided into 500

equal parts then the smallest measurement that can be

measured by using the scale is .

A. 0.5 m

B. 0.005 m

C. 50 mm

D. 2 mm

Answer: D

Watch Video Solution

_______

https://dl.doubtnut.com/l/_R320CTI8r4yK
https://dl.doubtnut.com/l/_NbBPBbv8DDj8


32. Which among the following is (are) the units(s) of

pressure?

A. N 

B. gwt 

C. kgwt 

D. All of the above

Answer: D

Watch Video Solution

m− 2

cm− 2

m− 2

33. Which of the following statements is /are correct?

https://dl.doubtnut.com/l/_l4R3je2XHqB5
https://dl.doubtnut.com/l/_hDmT2btLvoHj


A. The weight of a body can be zero.

B. The weight of a body can be greater than zero.

C. The mass of a body can be zero.

D. both a and b

Answer: D

Watch Video Solution

34. Volume of an irregular shaped solid can be measured

by using a____

A. density bottle

B. spring balance

https://dl.doubtnut.com/l/_hDmT2btLvoHj
https://dl.doubtnut.com/l/_BL9ECZUVt1Mn


C. measuring cylinder

D. physical balance

Answer: C

Watch Video Solution

35. Which of the following statements is incorrect?

A. As the temperature of gas increases, its volume

increases.

B. As the temperature of a gas increases, its density

decreases.

https://dl.doubtnut.com/l/_BL9ECZUVt1Mn
https://dl.doubtnut.com/l/_jfYdAFI89Ojp


C. As the temperatrue of a gas increases, its density

increases.

D. both a and b

Answer: B

Watch Video Solution

36. An atlas of a country is shown in the �gure, the

distance between cities A and B is______ 

https://dl.doubtnut.com/l/_jfYdAFI89Ojp
https://dl.doubtnut.com/l/_wislU6KE06BM


A. 35 km

B. 3500 km

C. 350 km

D. both a and b

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wislU6KE06BM


37. Arrange the following steps in a sequence of �nd the

vlume oof an irregular shaped solid body. 

(A). The irregular shaped solid is tied with the thread and

is lowered into the measuring cylinder. 

(B). A measuring cylinder with graduations in millilitre or

cubic centimetrer is taken. 

(C). The level of water in the measuring cylinder rises after

immersion of the solid. (say )  

(D) First, it is �lled with water to a certain level or volume.

(say )  

(E). The volume of the stone is equal to the di�erence

between the volume of the water before and after the

immersion of the stone. .

V2

V1

(V2 − V1)

https://dl.doubtnut.com/l/_wislU6KE06BM
https://dl.doubtnut.com/l/_1NICKs7Sclq0


A. ABCDE

B. BCADE

C. BDACE

D. EDACB

Answer: C

Watch Video Solution

38. Density of the material of a paper is given a 0.5 g

. The mass of the paper is 1 g and its length and

breadth are 10 c and 5 cm, respectively. Arrange the

following steps in a sequence to �nd the thickness of the

paper. 

cm− 3

https://dl.doubtnut.com/l/_1NICKs7Sclq0
https://dl.doubtnut.com/l/_d7p48DHlzmv0


(A). The 0thickness of the paper is

  

(B) The density (d) of the material of the paper is

  

(C). then the volume (V) o the paper 

  

(D). The volume (V) of the paper is=length breadth

thickness of the paper.

A. ABCD

B. BADC

C. ABDC

D. BCDA

Answer: D

Volume of the paper (m)

Vlume of the paper (V)

=
Mass of the paper (m)

volume of the paper (V)

=
Mass of the paper (m)

Density (d) of the paper

× ×

https://dl.doubtnut.com/l/_d7p48DHlzmv0


Match The Column

Watch Video Solution

1. what is CGS and SI unit of length,area,and volume?

Watch Video Solution

2. Match columns

https://dl.doubtnut.com/l/_d7p48DHlzmv0
https://dl.doubtnut.com/l/_nd7oqbvghrkR
https://dl.doubtnut.com/l/_e4j58suoS4B1


Watch Video Solution

3. 

View Text Solution

https://dl.doubtnut.com/l/_e4j58suoS4B1
https://dl.doubtnut.com/l/_jGfBt7lps0ij


4. 

View Text Solution

https://dl.doubtnut.com/l/_cKT0ABKuSBDX


5. Match columns

Watch Video Solution

https://dl.doubtnut.com/l/_SNncgktw7V6n


Answer The Following Question

6. 

View Text Solution

1. What is the meaning of the word science?

Watch Video Solution

https://dl.doubtnut.com/l/_52jypTZLvWOn
https://dl.doubtnut.com/l/_MPcel9kH0kUs


2. Express the density 2 g  in SI system.

Watch Video Solution

cm− 3

3. How does the density of a solid change with minor

changes in temperature?

Watch Video Solution

4. Name the device used to measure the volume of an

irregular solid.

Watch Video Solution

https://dl.doubtnut.com/l/_MPcel9kH0kUs
https://dl.doubtnut.com/l/_6pnzLrN9osHR
https://dl.doubtnut.com/l/_uRiRJNKMUwtB
https://dl.doubtnut.com/l/_1Nqcjns8DvqG
https://dl.doubtnut.com/l/_fIPQ0uWnoXaR


5. How is the volume of a regular solid determined?

Watch Video Solution

6. What is the consequence of change in density of liquids

with temperature?

Watch Video Solution

7. Name the method used to measure the distance

between stars.

Watch Video Solution

https://dl.doubtnut.com/l/_fIPQ0uWnoXaR
https://dl.doubtnut.com/l/_6cI5IyCvSWIo
https://dl.doubtnut.com/l/_FIkWUaOiFVZ8
https://dl.doubtnut.com/l/_fjBDpdMkDU79


8. De�ne one kilogram weight.

Watch Video Solution

9. De�ne one gram force.

Watch Video Solution

10. Will mass of the solid body changes with change in its

volume?

Watch Video Solution

11. What is convection current?

https://dl.doubtnut.com/l/_fjBDpdMkDU79
https://dl.doubtnut.com/l/_YSg4UHy6RMKn
https://dl.doubtnut.com/l/_y8n9hufBjKYL
https://dl.doubtnut.com/l/_gMO4tRkPQTPx


Watch Video Solution

12. What are the common multiple and submultiple units

of mass? Express them in terms of kg.

Watch Video Solution

13. Write CGS units o area, force, temperature and heat.

Watch Video Solution

14. What are the �ve main branches of Physics?

Watch Video Solution

https://dl.doubtnut.com/l/_gMO4tRkPQTPx
https://dl.doubtnut.com/l/_m1T1Ud7iBaun
https://dl.doubtnut.com/l/_1WNULZKRccY6
https://dl.doubtnut.com/l/_TcHkU4DcZgTM


15. Science of engineering and technology which is

applied to life sciences is

Watch Video Solution

16. What causes the formation of the land and sea

breezes.?

Watch Video Solution

17. How does the weight of a body change with the

change in altitude?

Watch Video Solution

https://dl.doubtnut.com/l/_ycSDSdoRC6qz
https://dl.doubtnut.com/l/_K2R5sdaXZqoI
https://dl.doubtnut.com/l/_4vbrTWbXURCD


18. Convert 1 m  into cm .

Watch Video Solution

s− 2 s− 2

19. How does the density of a solid change with minor

changes in temperature?

Watch Video Solution

20. What is a systematic error ? How can it be removed ?

Watch Video Solution

https://dl.doubtnut.com/l/_XK1f3XQfhNXu
https://dl.doubtnut.com/l/_6byVaxlGDFA7
https://dl.doubtnut.com/l/_i7gkHpWJRj7H


21. What is the meaning of the word science?

Watch Video Solution

22. Express the density 2 g  in SI system.

Watch Video Solution

cm− 3

23. How does the density of a solid change with minor

changes in temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_lTsUvd7n0oZL
https://dl.doubtnut.com/l/_eG1SE7tzjOX0
https://dl.doubtnut.com/l/_pLgHTVJ26Ux5


24. Name the device used to measure the volume of an

irregular solid.

Watch Video Solution

25. How is the volume of a regular solid determined?

Watch Video Solution

26. What is the consequence of change in density of

liquids with temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_D2UsOC24PesD
https://dl.doubtnut.com/l/_6jhyugSfKwpk
https://dl.doubtnut.com/l/_irAsyCm6tcw1
https://dl.doubtnut.com/l/_8c8xMvCg7OuL


27. Name the method used to measure the distance

between stars.

Watch Video Solution

28. De�ne one kilogram weight.

Watch Video Solution

29. De�ne one gram force.

Watch Video Solution

https://dl.doubtnut.com/l/_8c8xMvCg7OuL
https://dl.doubtnut.com/l/_hf8IxG0hONQn
https://dl.doubtnut.com/l/_GaQx8bducgiw


30. Will mass of the solid body changes with change in its

volume?

Watch Video Solution

31. What is convection current?

Watch Video Solution

32. What are the common multiple and submultiple units

of mass? Express them in terms of kg.

Watch Video Solution

https://dl.doubtnut.com/l/_yxHQ8jxoTGZT
https://dl.doubtnut.com/l/_MXgw8HAUq8Gm
https://dl.doubtnut.com/l/_NfGVHJOTnKSL
https://dl.doubtnut.com/l/_7in3CPHtmwBN


33. Write CGS units o area, force, temperature and heat.

Watch Video Solution

34. What are the �ve main branches of Physics?

Watch Video Solution

35. Science of engineering and technology which is

applied to life sciences is

Watch Video Solution

https://dl.doubtnut.com/l/_7in3CPHtmwBN
https://dl.doubtnut.com/l/_vMNRCrCVnqKZ
https://dl.doubtnut.com/l/_HzgMFLItDInD


36. What causes the formation of the land and sea

breezes.?

Watch Video Solution

37. How does the weight of a body change with the

change in altitude?

Watch Video Solution

38. What is SI and CGS unit of length,mass,time,area and

volume.

Watch Video Solution

https://dl.doubtnut.com/l/_yklLQhjRZ0wR
https://dl.doubtnut.com/l/_6bD4Mj4jna5g
https://dl.doubtnut.com/l/_4ifvbUXdIzK6


Short Answer Type Question

39. How does the density of a solid change with minor

changes in temperature?

Watch Video Solution

40. What is a systematic error ? How can it be removed ?

Watch Video Solution

1. The mass of a bottle �lled with water is found to be 150

g. the mass of the empty bottle is 50 g and the external

https://dl.doubtnut.com/l/_n1MwAUaRjNil
https://dl.doubtnut.com/l/_ZmBBgbuKDdAQ
https://dl.doubtnut.com/l/_xS2jWQv0JvBN


volume of the container is 125 . Find out the density

of the material of the bottle.

Watch Video Solution

cm3

2. Ten identical metalic balls of density 5 g  when

dropped inito water, the volume of the water diplaced is

found to be 500 . Determine the mass of each

metallic ball.

Watch Video Solution

cm− 3

cm3

3. Convert 1 kg  into g .

Watch Video Solution

m− 2 cm− 2

https://dl.doubtnut.com/l/_xS2jWQv0JvBN
https://dl.doubtnut.com/l/_jyrWcdKWZSGs
https://dl.doubtnut.com/l/_YDb72DhqJh36


4. The density of a substance is 5 kg per litre. Express iit in

g .

Watch Video Solution

cm− 3

5. Give few examples from day to day life, where phyics is

employed.

Watch Video Solution

6. Arrange the following steps in a sequence of �nd the

vlume oof an irregular shaped solid body. 

(A). The irregular shaped solid is tied with the thread and

is lowered into the measuring cylinder. 

https://dl.doubtnut.com/l/_7e8UUNRvQpCZ
https://dl.doubtnut.com/l/_7SWVucq94ujK
https://dl.doubtnut.com/l/_PWjShmpmYmlC


(B). A measuring cylinder with graduations in millilitre or

cubic centimetrer is taken. 

(C). The level of water in the measuring cylinder rises after

immersion of the solid. (say )  

(D) First, it is �lled with water to a certain level of volume.

(say )  

(E). The volume of the stone is equal to the di�erence

between the volume of the water before and after the

immersion of the stone. .

Watch Video Solution

V2

V1

(V2 − V1)

7. Convert 1 m  into cm .

Watch Video Solution

s− 1 s− 1

https://dl.doubtnut.com/l/_PWjShmpmYmlC
https://dl.doubtnut.com/l/_gTuWwvHxlDau


8. The volume fo mercury and water is 50 ml each. What is

the ratio of their mass, if their densities are in the ratio

68:5?

Watch Video Solution

9. Find the density of cuboid of dimesions

 and having mass 1 kg in SI system.

Watch Video Solution

3cm × 5cm × 7cm

10. What is a density bottle?

Watch Video Solution

https://dl.doubtnut.com/l/_ci8ioD5kfipI
https://dl.doubtnut.com/l/_WWtMFILySc5N
https://dl.doubtnut.com/l/_BFqkT5iMQOM1


11. what is SI and CGS unit of time,mass,distance,force?

Watch Video Solution

12. Explain how the ventilation in a room is possible

Watch Video Solution

13. Explain why a �ame point is in the upward direction.

Watch Video Solution

https://dl.doubtnut.com/l/_L55UHR2zARmh
https://dl.doubtnut.com/l/_N1sFL8L54Tg0
https://dl.doubtnut.com/l/_gBRUw64NLAFf


14. Find thhe mass of 1  of gold in kg when density of

gold is 19 g .

Watch Video Solution

m3

cm− 3

15. If 5 kg of glycerine occupies 0.004 , deterimine the

density of glycerine in g  and kg .

Watch Video Solution

m3

cm− 3 m− 3

16. Take two cubes each of side 4 cm made up of iron and

aluminium. Why is there di�erence in masses o two

spheres inspite of having same volume.

Watch Video Solution

https://dl.doubtnut.com/l/_GxvmxSQFx5xn
https://dl.doubtnut.com/l/_5APFGq47UVCq
https://dl.doubtnut.com/l/_OacYqwNkj7nN


17. The mass of a bottle �lled with water is found to be

150 g. the mass of the empty bottle is 50 g ad the external

vlume o the container is 125 . Find out the density of

the material of the bottle.

Watch Video Solution

cm3

18. Ten identical metalic balls of density 5 g  when

dropped inito water, the volume of the water diplaced is

found to be 500 . Determine the mass of each

metallic ball.

Watch Video Solution

cm− 3

cm3

https://dl.doubtnut.com/l/_OacYqwNkj7nN
https://dl.doubtnut.com/l/_iA30m9xC4ckP
https://dl.doubtnut.com/l/_G5tHAYAZCPcH


19. When 20 drops of water is added to a graduated

cylinderical container �lled with water, the level of the

liquid rises from 10 ml to 20 ml. Calculate the mass of

each water drop.

Watch Video Solution

20. The density of a substance is 5 kg per litre. Express iit

in g .

Watch Video Solution

cm− 3

21. Give few examples from day to day life, where phyics is

employed.

https://dl.doubtnut.com/l/_fpx1fIfDFPPO
https://dl.doubtnut.com/l/_Inj3wKeA625E
https://dl.doubtnut.com/l/_kxTpxeVPw98T


Watch Video Solution

22. Volume of an irregular shaped solid can be measured

by using a____

Watch Video Solution

23. A density bottle weighs 100 g when �lled with liquid

annd 80 g when �lled with water. If the weight of an

empty density bottle is 20 g, �nd the density of the liquid.

Watch Video Solution

https://dl.doubtnut.com/l/_kxTpxeVPw98T
https://dl.doubtnut.com/l/_hLIJoVttIVdQ
https://dl.doubtnut.com/l/_FHFUSmB3DVLu


24. The volume fo mercury and water is 50 ml each. What

is the ratio of their mass, if their densities are in the ratio

68:5?

Watch Video Solution

25. Find the density of cuboid of dimesions

 and having mass 1 kg in SI system.

Watch Video Solution

3cm × 5cm × 7cm

26. What are the uses of tringulation method?

Watch Video Solution

https://dl.doubtnut.com/l/_BjqZhjGybC5d
https://dl.doubtnut.com/l/_zukjPRoSxr7x
https://dl.doubtnut.com/l/_REDOF6XFbjTt


27. Explain how the ventilation in a room is possible

Watch Video Solution

28. Explain why a �ame point is in the upward direction.

Watch Video Solution

29. Find thhe mass of 1  of gold in kg when density of

gold is 19 g .

Watch Video Solution

m3

cm− 3

https://dl.doubtnut.com/l/_aXTEnQmgo8tz
https://dl.doubtnut.com/l/_XIpyxDN23yNU
https://dl.doubtnut.com/l/_Yoe7odOivpA4


Essay Type Question

30. If 5 kg of glycerine occupies 0.004 , deterimine the

density of glycerine in g  and kg .

Watch Video Solution

m3

cm− 3 m− 3

31. Take two cubes each of side 4 cm made up of iron and

aluminium. Why is there di�erence in masses of two

cubes inspite of having same volume.

Watch Video Solution

1. Explain the steps through which science is applied.

https://dl.doubtnut.com/l/_ErdnfFwEPxYu
https://dl.doubtnut.com/l/_x1UYZ0tdEPT0
https://dl.doubtnut.com/l/_QldNSCk5NsTE


Watch Video Solution

2. Describe how triangulation method is used to measure

large distnaces, by taking suitable example.

Watch Video Solution

3. With the help of suitable example, explain how science

is applied.

Watch Video Solution

4. When half of the total volume of an empty beaker of

mass 100 g is �lled with water, its mass is found to be 500

https://dl.doubtnut.com/l/_QldNSCk5NsTE
https://dl.doubtnut.com/l/_E3vc0PCS5S15
https://dl.doubtnut.com/l/_fL6uLT8ekXvh
https://dl.doubtnut.com/l/_dxbLNWXkJI0h


g and when the remaining volume of the beaker is �lled

with a liquid, its mass is found to be 1 kg. Calculate the

density of the liquid.

Watch Video Solution

5. Write the di�erences between mass and weight of an

object.

Watch Video Solution

6. What is a density bottle?

Watch Video Solution

https://dl.doubtnut.com/l/_dxbLNWXkJI0h
https://dl.doubtnut.com/l/_144gfMJEifiu
https://dl.doubtnut.com/l/_IUDW9wvem4Gz
https://dl.doubtnut.com/l/_umdD9jiNgHvP


7. Test tube A contains 10 ml of liquid X and test tube B

contains a liquid Y of volume 50 ml. the ratio o the

density of Y to X is 2:5. Compare the mass of liquid A and

B.

Watch Video Solution

8. Wriite CGS unit and SI unit for given following physical

quantities: 

(a) Area, (b) Volume 

(c) Density, (d) Velocity speed 

(e) Aceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_umdD9jiNgHvP
https://dl.doubtnut.com/l/_UyibUjbCuw22
https://dl.doubtnut.com/l/_oqb863Cr3JLo


9. Explain the steps through which science is applied.

Watch Video Solution

10. Describe how triangulation method is used to

measure large distnaces, by taking suitable example.

Watch Video Solution

11. The orthocenter of the triangle PAB is

Watch Video Solution

https://dl.doubtnut.com/l/_oqb863Cr3JLo
https://dl.doubtnut.com/l/_pEqhP0YNcxZP
https://dl.doubtnut.com/l/_7woy5s9Ly4lO


12. When half of the total volume of an empty beaker of

mass 100 g is �lled with water, its mass is found to be 500

g and when the remaining volume of the beaker is �lled

with a liquid, its mass is found to be 1 kg. Calculate the

density of the liquid.

Watch Video Solution

13. Bring out the di�erecnes between the mass and the

weight of a body.

Watch Video Solution

https://dl.doubtnut.com/l/_9Jee7t3KH7rr
https://dl.doubtnut.com/l/_7eih0TAI5Mmh


14. Name the devies used to measure the density of a

liquid.

Watch Video Solution

15. Test tube A contains 10 ml of liquid X and test tube B

contains a liquid Y of volume 50 ml. the ratio o the

density of Y to X is 2:5. Compare the mass of liquid A and

B.

Watch Video Solution

16. Wriite CGS unit and SI unit for given following physical

quantities: 

https://dl.doubtnut.com/l/_VQr95U0gIida
https://dl.doubtnut.com/l/_QLe9Mss6rISk
https://dl.doubtnut.com/l/_QMRxD1RrqKtm


Level 1 True False

(a) Area, (b) Volume 

(c) Density, (d) Velocity speed 

(e) Acceleration, (f) force 

(g) Weight, (h) pressure 

(i) Temperature, (j) Energy.

Watch Video Solution

1. The SI unit of volume is:

Watch Video Solution

https://dl.doubtnut.com/l/_QMRxD1RrqKtm
https://dl.doubtnut.com/l/_5eaXckEFGLwH


2. Convert 1 ml into .

Watch Video Solution

cm3

3. Mass of a given substance does not change with

change in position or location.

Watch Video Solution

4. What is the SI unit of weight ?

Watch Video Solution

https://dl.doubtnut.com/l/_e9yg0naUCLbV
https://dl.doubtnut.com/l/_TbW25QJBsRLZ
https://dl.doubtnut.com/l/_9H2gYSxSAciF


5. Mass of a body cannot be zero.

Watch Video Solution

6. As the temperature of gases increases, its density also

increase.

Watch Video Solution

7.  is a unit of density.

Watch Video Solution

kg  1− 1

https://dl.doubtnut.com/l/_zel10spgyiVd
https://dl.doubtnut.com/l/_WOGSpOB4Eqc0
https://dl.doubtnut.com/l/_hnz5X5hf35ju


8. Triangulation method is used for measuring very long

distances.

Watch Video Solution

9. Density of keerosene is less than the density of water.

Watch Video Solution

10. SI unit of volume is cubic metre.

Watch Video Solution

https://dl.doubtnut.com/l/_NmZJBi9PBYP5
https://dl.doubtnut.com/l/_N1iRa37Mlt1k
https://dl.doubtnut.com/l/_VkXvYAVPXjJo


11. 1 

Watch Video Solution

m3 = 1000000cm3

12. Mass of a given substance does not change with

change in position or location.

Watch Video Solution

13. SI unit of weight is Newton.

Watch Video Solution

https://dl.doubtnut.com/l/_tfUByQI2Nxaf
https://dl.doubtnut.com/l/_blvzSkztl7hd
https://dl.doubtnut.com/l/_326LJCHuey44


14. Mass of a body cannot be zero.

Watch Video Solution

15. As the temperature of gases increases, its density also

increase.

Watch Video Solution

16.  is a unit of density.

Watch Video Solution

kg  1− 1

https://dl.doubtnut.com/l/_ga4UW3afrjgO
https://dl.doubtnut.com/l/_cW8AYG0t37Iq
https://dl.doubtnut.com/l/_5oFg5p9ZOHed


Level 1 Fill In The Blanks

17. Triangulation method is used for measuring very long

distances.

Watch Video Solution

18. Density of keerosene is less than the density of water.

Watch Video Solution

1. The method of measuring distance by forming a ______ is

called tringulation method.

Watch Video Solution

https://dl.doubtnut.com/l/_ynHEAA9yiecd
https://dl.doubtnut.com/l/_DWU40pqYQQ6T
https://dl.doubtnut.com/l/_viDQem2YCaQG


Watch Video Solution

2. SI unit of area,volume,density is____

Watch Video Solution

3. The SI unit of density is:

Watch Video Solution

4. The weight of a body can be zero when ____acts on it.

Watch Video Solution

https://dl.doubtnut.com/l/_viDQem2YCaQG
https://dl.doubtnut.com/l/_Vk063YBLscXZ
https://dl.doubtnut.com/l/_xYXlQ5SjnUNA
https://dl.doubtnut.com/l/_J61oIwmOPrGx


5. Unit of energy is SI system is

Watch Video Solution

6. Volume of 1g water is ____.

Watch Video Solution

7. ______is the force with which the earth pulls a body

towards its centre.

Watch Video Solution

https://dl.doubtnut.com/l/_rdjWxrYm87Vv
https://dl.doubtnut.com/l/_TSiNtVCeXDIP
https://dl.doubtnut.com/l/_JMoWEKnl9wDI


8. Density of a liquid can be measured by using______.

Watch Video Solution

9. The method of measuring distance by forming a ______

is called tringulation method.

Watch Video Solution

10. SI unit of area is____

Watch Video Solution

https://dl.doubtnut.com/l/_jHTQMJqal9vK
https://dl.doubtnut.com/l/_MKjtDceFUHIe
https://dl.doubtnut.com/l/_YfObOOwTl1Hx


11. The SI unit of density is:

Watch Video Solution

12. The weight of a body can be zero when ____acts on it.

Watch Video Solution

13. Unit of energy is SI system is

Watch Video Solution

14. Mass of 1 ml water is_____g.

h id l i

https://dl.doubtnut.com/l/_oDqZLeuCQT15
https://dl.doubtnut.com/l/_ShS5WwXBa42y
https://dl.doubtnut.com/l/_5st2Ec2k2aiA
https://dl.doubtnut.com/l/_zRz6jZJhnAJu


Level 1 Mcqs

Watch Video Solution

15. ______is the force with which the earth pulls a body

towards its centre.

Watch Video Solution

16. Density of a liquid can be measured by using______.

Watch Video Solution

https://dl.doubtnut.com/l/_zRz6jZJhnAJu
https://dl.doubtnut.com/l/_mBfb85VsaAkU
https://dl.doubtnut.com/l/_GXRahWLzq2PL


1. An atlas of India is drawn by taking scale 10 cm=15000

km. If the actual distance between the cities of Bhopal

and cochin is 1500 km, the distance between the two

places in the atlas will be_____cm.

A. 

B. 

C. 10000

D. 1000

Answer: B

Watch Video Solution

102

1

https://dl.doubtnut.com/l/_fichYAt6lrNW


2. Sea breeze is due to thhe change in density of air

with_____.

A. change in temperature

B. chain in pressure

C. change in wind

D. change is whether condition

Answer: A

Watch Video Solution

3. Density of a liquid can be measured by using______.

https://dl.doubtnut.com/l/_qBzeBsili9Lk
https://dl.doubtnut.com/l/_JSbb8rvDVNyU


A. spring balance

B. measuring cylinder

C. density bottle

D. physical balance

Answer: C

Watch Video Solution

4. The area of a circle whose radius is 10 cm is _____.

A. 314 

B. 314 

C. 3.1415 

cm2

m2

m2

https://dl.doubtnut.com/l/_JSbb8rvDVNyU
https://dl.doubtnut.com/l/_Ag1suAxaxMu5


D. both a and b

Answer: A

Watch Video Solution

5. If the area of a square �eld is 100 , then the length

of the side is______

A. 1 cm

B. 1 m

C. 0.1 m

D. 10 m

Answer: C

cm2

https://dl.doubtnut.com/l/_Ag1suAxaxMu5
https://dl.doubtnut.com/l/_UOMOHPb33XnQ


Watch Video Solution

6. The density of water at  is:

A. 1 g 

B. 100 kg 

C. 1000 g 

D. 1 kg 

Answer: A

Watch Video Solution

4∘C

cm− 3

m− 3

cm− 3

m− 3

7. Which among the following is the unit of density?

https://dl.doubtnut.com/l/_UOMOHPb33XnQ
https://dl.doubtnut.com/l/_s7TlHRDDJRdl
https://dl.doubtnut.com/l/_JwuF6qk9Iwaf


A. kg 

B. g 

C. kg 

D. All the above

Answer: D

Watch Video Solution

m− 3

m− 3

m− 3

8. Which of the following is/are units of weight?

A. 

B. g f

C. kg f

N

https://dl.doubtnut.com/l/_JwuF6qk9Iwaf
https://dl.doubtnut.com/l/_bG5wXu6PkWup


D. All the above

Answer: D

Watch Video Solution

9. A ball is placed between two wooden blocks as shown

in the �gure. The volume of the sphere is_____ 

.

A. 

B. 

6.54cm3

1.15cm3

https://dl.doubtnut.com/l/_bG5wXu6PkWup
https://dl.doubtnut.com/l/_QmZtAibGRuxU


C. 

D. 

Answer: B

Watch Video Solution

2.14m3

2.14cm3

10. The density o a substance in CGS system is 4 g .

Its density in SI system is____ kg .

A. 4

B. 40

C. 400

D. 4000

cm− 3

m− 3

https://dl.doubtnut.com/l/_QmZtAibGRuxU
https://dl.doubtnut.com/l/_WTyzGZLtTfaa


Answer: D

Watch Video Solution

11. The volume of a body having density 1 g  and

mass 100 g is _____ .

A. 100

B. 50

C. 

D. 

Answer: A

Watch Video Solution

cm− 3

cm3

1

100

1

50

https://dl.doubtnut.com/l/_WTyzGZLtTfaa
https://dl.doubtnut.com/l/_SDY3QEv2VnJ6


12. A cylinder of height 1 m and radius 10 cm is fully �lled

with water, the volume of water is _____ .

A. 3.14

B. 0.314

C. 0.0314

D. 314

Answer: C

Watch Video Solution

m3

13. 1000 kg of water occuples how much volume?

https://dl.doubtnut.com/l/_SDY3QEv2VnJ6
https://dl.doubtnut.com/l/_tYqNH13aOL76
https://dl.doubtnut.com/l/_0JA0A4j7NUOh


A. 1 l

B. 0.5 l

C. 1000 l

D. 0.75 Kl

Answer: C

Watch Video Solution

14. 1 hectare = ...... .

A. 

B. 

C. 

m2

102

103

104

https://dl.doubtnut.com/l/_0JA0A4j7NUOh
https://dl.doubtnut.com/l/_3HON2d0xUXag


D. 

Answer: C

Watch Video Solution

105

15. 1 kg =_____.

A. 100

B. 1/100

C. 1000

D. 1/1000

Answer: D

Watch Video Solution

m− 3

https://dl.doubtnut.com/l/_3HON2d0xUXag
https://dl.doubtnut.com/l/_twlbTeKvYHJQ


16. If the smallest measurement that can be measured by

using a scale is 0.1 mm, then the length of 1 m in the scale

is divided inot __________ equal parts.

A. 1000

B. 5000

C. 10000

D. 50000

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_twlbTeKvYHJQ
https://dl.doubtnut.com/l/_sL5Wa3VXtLIj


17. Which of the following scale gives more accurate

reading?

A. One metre inn a scale is divided into 1000 equal

parts.

B. One cm in a scale is divided into 100 equal parts.

C. One mm in a scale is divided into 2 equal parts.

D. One mm in a scale is divided into 5 equal parts.

Answer: B

Watch Video Solution

18. The unit of heat is/are

https://dl.doubtnut.com/l/_du2AZgDnc8A8
https://dl.doubtnut.com/l/_15M2b8JJ76r6


A. Calorie

B. Kelvin

C. Degree centrigrade

D. All the above

Answer: A

Watch Video Solution

19. Which of the following statement is wrong?

A. The mass of a body can be measured by using a

beam balance.

https://dl.doubtnut.com/l/_15M2b8JJ76r6
https://dl.doubtnut.com/l/_tAXfQ30xsFgt


B. The weight of a body can be measured by using a

pring balance.

C. The mass of a body can be measured by using a

spring balance.

D. The weight of a body cannot be measured by using

a beam balance.

Answer: C

Watch Video Solution

20. The width of a stream is determined with the help of

triangulation method. Arrange the followig steps in a

sequence of explain the process to �nd the width. 

https://dl.doubtnut.com/l/_tAXfQ30xsFgt
https://dl.doubtnut.com/l/_3Ua2IIf9lZ1q


(A). Fix a certain startionary object like tree on the other

bank of the strem. 

(B) Take two pins  an �x  at one

vertex of the drawing board such that pins and tree are

on the same straight line. 

(C) Select two positions (say A and B) on the ground and

the horizontal distance between them is noted. Let it be

'D' m. 

(D) Repeat the same process at position 'B' with other two

pins  at other vertex of the drawing board.

ltBrgt (E) Take a drawing board and paste a white paper

on it. 

(F). Fix the board at position 'A' such that one edge is

directed along 'AB'. 

(G) Now, produce two straight lines and let meet at point

(P1 and P2) P1 and P2

(P3 and P4)

https://dl.doubtnut.com/l/_3Ua2IIf9lZ1q


'P'. Complete the triangle with P, . Measure the

distnace between  say d. Then  gives the

actual distance on ground for every oen cm on the

drawing board. 

(H) Now the width of the river will be equal to the

distance from midpoint of  (let it be ) ad P

multiplied by .

A. EACFBDGH

B. EABCDFHG

C. EDCBAFGH

D. ABCDEFGH

Answer: A

View Text Solution

P1 and P3

P1 and P3
D

d

P1 and P3 P5

D

d

https://dl.doubtnut.com/l/_3Ua2IIf9lZ1q


21. A density bottle weighs 120 g and 100 g when �lled

completely with oil ad water, respectively. If the weight of

a empty density bottle is 40g, then arrange the following

steps in sequence meant to solve the problem to get the

density of oil 

(A). The density of the oil 

  

  

(B). Let the weight of the bottle +oil=   

and the weight of the bottle+water =   

100g, where bottle is completely �lled with liquid, i.e., oil

or water. 

(C). Let the weight of the empty bottle   

D = =
Mass of the oil

Weight of the water

Mass of the oil

Mass of the water

= =
Weighht of oil

Weight of the water

W3 − W1

W2 − W1

W3 = 120g

W2

= W1 = 40g

https://dl.doubtnut.com/l/_3Ua2IIf9lZ1q
https://dl.doubtnut.com/l/_eveBUiQURR6T


(D). The the weight of the oil ad water would be equal to

, respectively.

A. CBDA

B. ABCD

C. BADC

D. DCBA

Answer: A

Watch Video Solution

(W3 − W1) and (W2 − W1)

https://dl.doubtnut.com/l/_eveBUiQURR6T


22. Match columns

Watch Video Solution

https://dl.doubtnut.com/l/_MqWpFtC69zkK


23. Match columns

Watch Video Solution

https://dl.doubtnut.com/l/_7AgKv44GVW02


24.  

View Text Solution

25. An atlas of India is drawn by taking scale 10 cm=15000

km. If the actual distance between the cities of Bhopal

https://dl.doubtnut.com/l/_o0HTIxTydxuK
https://dl.doubtnut.com/l/_kPGgfruAf6n7


and cochin is 1500 km, the distance between the two

places in the atlas will be_____cm.

A. 

B. 

C. 10000

D. 1000

Answer: B

Watch Video Solution

102

1

26. Sea breeze is due to thhe change in density of air

with_____.

https://dl.doubtnut.com/l/_kPGgfruAf6n7
https://dl.doubtnut.com/l/_KnHGilJT5gmO


A. change in temperature

B. chain in pressure

C. change in wind

D. change is whether condition

Answer: A

Watch Video Solution

27. Density of a liquid can be measured by using______.

A. spring balance

B. measuring cylinder

C. density bottle

https://dl.doubtnut.com/l/_KnHGilJT5gmO
https://dl.doubtnut.com/l/_kHDqCwYwB9DQ


D. physical balance

Answer: C

Watch Video Solution

28. The area of a circle whose radius is 10 cm is _____.

A. 314 

B. 314 

C. 3.1415 

D. both a and b

Answer: A

Watch Video Solution

cm2

m2

m2

https://dl.doubtnut.com/l/_kHDqCwYwB9DQ
https://dl.doubtnut.com/l/_UXoxmWdk77J7


29. If the area of a square �eld is 100 , then the length

of the side is______

A. 1 cm

B. 1 m

C. 0.1 m

D. 10 m

Answer: C

Watch Video Solution

cm2

30. The density of water at  is:4∘C

https://dl.doubtnut.com/l/_UXoxmWdk77J7
https://dl.doubtnut.com/l/_7H4dQxIJAsvl
https://dl.doubtnut.com/l/_QpAsQzaoKHJm


A. 1 g 

B. 100 kg 

C. 1000 g 

D. 1 kg 

Answer: A

Watch Video Solution

cm− 3

m− 3

cm− 3

m− 3

31. Which among the following is the unit of density?

A. kg 

B. g 

C. kg 

m− 3

m− 3

m− 3

https://dl.doubtnut.com/l/_QpAsQzaoKHJm
https://dl.doubtnut.com/l/_DlQ4nVMwbzax


D. All the above

Answer: D

Watch Video Solution

32. Unit of weight is (are)_____.

A. 

B. g f

C. kg f

D. All the above

Answer: D

Watch Video Solution

N

https://dl.doubtnut.com/l/_DlQ4nVMwbzax
https://dl.doubtnut.com/l/_2rgFrqk4dWq5


33. A ball is placed between two wooden blocks as shown

in the �gure. The volume of the sphere is_____ 

.

A. 

B. 

C. 

D. 

Answer: B

6.54cm3

1.15cm3

2.14m3

2.14cm3

https://dl.doubtnut.com/l/_2rgFrqk4dWq5
https://dl.doubtnut.com/l/_bCixypQZd5hn


Watch Video Solution

34. The density o a substance in CGS system is 4 g .

Its density in SI system is____ kg .

A. 4

B. 40

C. 400

D. 4000

Answer: D

Watch Video Solution

cm− 3

m− 3

https://dl.doubtnut.com/l/_bCixypQZd5hn
https://dl.doubtnut.com/l/_mHJtmoaOlICk


35. The volume of a body having density 1 g  and

mass 100 g is _____ .

A. 100

B. 50

C. 

D. 

Answer: A

Watch Video Solution

cm− 3

cm3

1

100

1

50

36. A cylinder of height 1 m and radius 10 cm is fully �lled

with water, the volume of water is _____ .m3

https://dl.doubtnut.com/l/_NDq0rEQDLuSF
https://dl.doubtnut.com/l/_JSMn5IUT8k0C


A. 3.14

B. 0.314

C. 0.0314

D. 314

Answer: C

Watch Video Solution

37. 1000 kg of water occuplies

A. 1 l

B. 0.5 l

C. 1000 l

https://dl.doubtnut.com/l/_JSMn5IUT8k0C
https://dl.doubtnut.com/l/_Z0e0GHvTeyOd


D. 0.75 Kl

Answer: C

Watch Video Solution

38. 1 hectare=____

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

m2

102

103

104

105

https://dl.doubtnut.com/l/_Z0e0GHvTeyOd
https://dl.doubtnut.com/l/_2WIdgyBCFw7K


39. 1 kg =_____.

A. 100

B. 1/100

C. 1000

D. 1/1000

Answer: D

Watch Video Solution

m− 3

40. If the smallest measurement that can be measured by

using a scale is 0.1 mm, then the length of 1 m in the scale

https://dl.doubtnut.com/l/_2WIdgyBCFw7K
https://dl.doubtnut.com/l/_cGVFedkBGzyW
https://dl.doubtnut.com/l/_v5IS3nIXqqq1


is divided inot __________ equal parts.

A. 1000

B. 5000

C. 10000

D. 50000

Answer: C

Watch Video Solution

41. Which of the following scale gives more accurate

reading?

https://dl.doubtnut.com/l/_v5IS3nIXqqq1
https://dl.doubtnut.com/l/_tpQCu7BpGeVa


A. One metre inn a scale is divided into 1000 equal

parts.

B. One cm in a scale is divided into 100 equal parts.

C. One mm in a scale is divided into 2 equal parts.

D. One mm in a scale is divided into 5 equal parts.

Answer: B

Watch Video Solution

42. Which among the followig is the unit of heat?

A. Calorie

B. Kelvin

https://dl.doubtnut.com/l/_tpQCu7BpGeVa
https://dl.doubtnut.com/l/_9B70V1uFcGlY


C. Degree centrigrade

D. All the above

Answer: A

Watch Video Solution

43. Which of the following statement is wrong?

A. The mass of a body can be measured by using a

beam balance.

B. The weight of a body can be measured by using a

pring balance.

https://dl.doubtnut.com/l/_9B70V1uFcGlY
https://dl.doubtnut.com/l/_rVor0AYPkkjt


C. The mass of a body can be measured by using a

spring balance.

D. The weight of a body cannot be measured by using

a beam balance.

Answer: C

Watch Video Solution

44. The width of a stream is determined with the help of

triangulation method. Arrange the followig steps in a

sequence of explain the process to �nd the width. 

(A). Fix a certain startionary object like tree on the other

bank of the strem. 

https://dl.doubtnut.com/l/_rVor0AYPkkjt
https://dl.doubtnut.com/l/_KUo91JfQh4Yk


(B) Take two pins  an �x  at one

vertex of the drawing board such that pins and tree are

on the same straight line. 

(C) Select two positions (say A and B) on the ground and

the horizontal distance between them is noted. Let it be

'D' m. 

(D) Repeat the same process at position 'B' with other two

pins  at other vertex of the drawing board.

ltBrgt (E) Take a drawing board and paste a white paper

on it. 

(F). Fix the board at position 'A' such that one edge is

directed along 'AB'. 

(G) Now, produce two straight lines and let meet at point

'P'. Complete the triangle with P, . Measure the

distnace between  say d. Then  gives the

(P1 and P2) P1 and P2

(P3 and P4)

P1 and P3

P1 and P3
D

d

https://dl.doubtnut.com/l/_KUo91JfQh4Yk


actual distance on ground for every oen cm on the

drawing board. 

(H) Now the width of the river will be equal to the

distance from midpoint of  (let it be ) ad P

multiplied by .

A. EACFBDGH

B. EABCDFHG

C. EDCBAFGH

D. ABCDEFGH

Answer: A

View Text Solution

P1 and P3 P5

D

d

https://dl.doubtnut.com/l/_KUo91JfQh4Yk


45. A density bottle weighs 120 g and 100 g when �lled

completely with oil ad water, respectively. If the weight of

a empty density bottle is 40g, then arrange the following

steps in sequence meant to solve the problem to get the

density of oil 

(A). The density of the oil 

  

  

(B). Let the weight of the bottle +oil=   

and the weight of the bottle+water =   

100g, where bottle is completely �lled with liquid, i.e., oil

or water. 

(C). Let the weight of the empty bottle   

(D). The the weight of the oil ad water would be equal to

, respectively.

D = =
Mass of the oil

Weight of the water

Mass of the oil

Mass of the water

= =
Weighht of oil

Weight of the water

W3 − W1

W2 − W1

W3 = 120g

W2

= W1 = 40g

(W3 − W1) and (W2 − W1)

https://dl.doubtnut.com/l/_fRVUU7gerjnm


A. CBDA

B. ABCD

C. BADC

D. DCBA

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_fRVUU7gerjnm


46. Match columns

Watch Video Solution

https://dl.doubtnut.com/l/_42b7C6YKtycp


47. Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_2TRgHIvtTlvb


Level 2 Mcqs

48.  

View Text Solution

https://dl.doubtnut.com/l/_NDQKgOvQt3QU


1. A stone of density  Kg  and mass 2 kg is

immeresed into a liquid, inside a graduted cylinder. The

reading on the graduated cylinder. The reading on the

graduated cylinder is before the stone is

immersed into it, the reading after the stone is immersed

in it is   .

A. (a) 14000

B. (b) 500

C. (c ) 5000

D. (d) 1400

Answer: D

Watch Video Solution

5 × 103 m− 3

1000cm3

________ cm3

https://dl.doubtnut.com/l/_nD5yksEdYoUz


2. The weight of the givensolid cylinder rodis 2512 N. 

The density of the body is  Kg .  

 

A. (a) 2512

B. (b) 25xx 12

C. (d) S

D. (d)10^(6)S

________ m− 3

(takeg = 10ms− 2)

103

https://dl.doubtnut.com/l/_nD5yksEdYoUz
https://dl.doubtnut.com/l/_2uSWEWdRVxG5


Answer: D

Watch Video Solution

3. The mass of a density bottle when it is �lled with a

liquid of density 3000 kg  is 400 g and the mass of

the bottle when it is �lled with water is 200 g. The mass of

the empty density bottle is  g.

A. (a)10

B. (b) 100

C. (c )50

D. (d) 500

Answer: B

m− 3

__________

https://dl.doubtnut.com/l/_2uSWEWdRVxG5
https://dl.doubtnut.com/l/_sc20AW0vSGSi


Watch Video Solution

4. 1 g  __________ cm^(-3)`

A. (a)

B. (b) 

C. (b) 

D. (d) 

Answer: D

Watch Video Solution

m− 3 = kg

109

106

10− 6

10− 9

https://dl.doubtnut.com/l/_sc20AW0vSGSi
https://dl.doubtnut.com/l/_998a6xe8DJUi


5. In a particular scale A, one metreis divided into

500equal parts and in scale B one cm is divided into 5

equal parts and in scale C one mm is divided into 2 equal

parts, then the accuracy of .

A. (a)

B. (b) 

C. (c ) A=BgtCs

D. (d) A=B=C

Answer: b

Watch Video Solution

________

A > B > C

A = B < C

https://dl.doubtnut.com/l/_zuf2dIhPs17N


6. A wire is wound over a pencil and placed over a scale as

shown in the �gure. The diameter of the given wire is

. 

A. (a) 1.45 cm

B. (b) 2.9 mm

C. (c ) 2.9 m

D. (d ) 1.45 mm

Answer: D

Watch Video Solution

________

https://dl.doubtnut.com/l/_p6sBg1YQaXHS


7. If the radius of a sphere is doubled, then the density of

the sphere is  times its original value.

A. (a)` 1//2

B. (b) 2

C. (c ) 4

D. (d) 

Answer: D

Watch Video Solution

________

1/8

https://dl.doubtnut.com/l/_p6sBg1YQaXHS
https://dl.doubtnut.com/l/_2ttqJtDROaet


8.  

A paper cutting is placedon a graph as shownin the

�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. (a) 378

B. (b) 186

C. (c ) 312

_________ Cm2

https://dl.doubtnut.com/l/_9hyv091l6AQs


D. (d) 156

Answer: C

Watch Video Solution

9. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

A. (a) 2

B. (b) 2000

C. (c ) 3.5

D. (c )3500

_________ m− 3

https://dl.doubtnut.com/l/_9hyv091l6AQs
https://dl.doubtnut.com/l/_hzWTkgjPELuV


Answer: B

Watch Video Solution

10.  

The density of the solid cylindrical bar shown in the �gure

https://dl.doubtnut.com/l/_hzWTkgjPELuV
https://dl.doubtnut.com/l/_HZ6Zql8DOc2k


is  kg  . The weight of the bar is  N.

(take g=10 m 

A. (a) 157

B. (b) 1570

C. (c ) 320

D. (d) 3.2

Answer: A

Watch Video Solution

5 × 103 m− 3 _________

s2

11. The readings in a graduated cylinder are  and

, respectively, before and after a metal alloy piece of

10cm3

20cm3

https://dl.doubtnut.com/l/_HZ6Zql8DOc2k
https://dl.doubtnut.com/l/_Q1uLqe5a5WS2


mass 200 g is put in it. Thedensity of the material of the

alloy is kg 

A. (a)

B. (b) 2xx10^(4)

C. (c ) 

D. (d) 2xx 10^(6)`

Answer: B

Watch Video Solution

________ m− 3

2 × 103

2 × 105

12. A stock of identical coins are placed on a scale as

shown in the �gure. The thickness of a coin is  _______

https://dl.doubtnut.com/l/_Q1uLqe5a5WS2
https://dl.doubtnut.com/l/_b16ZIiCX3sX0


A. (a) 1.8 cm

B. (b)18 mm

C. (c ) 1.8 mm

D. (d) 0.18 m

Answer: C

Watch Video Solution

13. If the density of a sphere is reduced to  of its

original value, then the radius of the sphere is 

1/8

_________

https://dl.doubtnut.com/l/_b16ZIiCX3sX0
https://dl.doubtnut.com/l/_Hi06II3xGekQ


times its original radius (assume that there is no change

in mass). S

A. 2

B. 4

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/4

https://dl.doubtnut.com/l/_Hi06II3xGekQ


14.  

A paper cutting is placed on a graph a as shown in the

�gure, each division on the X and Y axes represents a

distance o� 1 cm. The area of the paper cutting is

 .

A. 100

B. 112

__________ cm2

https://dl.doubtnut.com/l/_o3W5aBR2Kvxe


C. 93

D. 96

Answer: C

Watch Video Solution

15. Density of the material of a paper is o.4g .The

mass of the paper is 0.5 g and its length and breadth are

10 cm and 4 cm, respectively. Determine the thickness of

the paper.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_o3W5aBR2Kvxe
https://dl.doubtnut.com/l/_Ih6u0lkFwD4r


16. If the length, breadth and height of a cuboid are all

increased to 'n'times their original values of 'n'.

View Text Solution

17. Solve the following example : 

A body of volume  is immersed completely in

water. Find the weight of the water displaced by the body.

Watch Video Solution

100cm3

[g = 9.8m/s2, ρ(water) = 103kg/m3]

18. A student was given a task to �nd the destiny of a cube

whose mass and side are 100 g and 5 cm, respectively.

https://dl.doubtnut.com/l/_4dVkF42etbD9
https://dl.doubtnut.com/l/_GJxhDFFmeOqk
https://dl.doubtnut.com/l/_IWTGihxJiEsM


What is his answer?

Watch Video Solution

19. A physics student was given a 400 pages book and a

metre scale and asked to measure the thickness of the

paper in the book. Explain how can he measure it.

Watch Video Solution

20. A wire wound over a rod and placed over a scale, as

shown in �gure. Calculate the radius of the wire. 

https://dl.doubtnut.com/l/_IWTGihxJiEsM
https://dl.doubtnut.com/l/_XukxugSp0gwx
https://dl.doubtnut.com/l/_PYomUhwP4jly


Watch Video Solution

21. A student took a spring balance calibrated in gf. He

then suspended an object of mass 1 kg to the spring

balance. Determine what would be the reading of the

spring balance.

Watch Video Solution

22. A physics scholar took two spring balances  and 

 that are calibrated on the surface of the Moon and

the Earth, respectively. He then weighed a body using

both  and  at a given place on the surface of the

' S1'

(s2

S1 S2

https://dl.doubtnut.com/l/_PYomUhwP4jly
https://dl.doubtnut.com/l/_3rxFmnDd0D10
https://dl.doubtnut.com/l/_RSkHhhbZKfRU


earth. He determind the ratio of the readings. What is the

ratio?S

View Text Solution

23. A scientist took a physical balance and an object of

weight 10 kgwt from the Earth to the surface of the Moon.

There on the Moon, if he placed this 10 kgwt object on

one of the pansof physical balance, �nd the mass of the

object required to balance the physical balance.

Watch Video Solution

24. The change in volume of a gas with change in

temperature is plotted on a graph, as shown in he �gure.

https://dl.doubtnut.com/l/_RSkHhhbZKfRU
https://dl.doubtnut.com/l/_7L3RpQkj36BX
https://dl.doubtnut.com/l/_oqPSAWx6rKmn


Calculate the ratio of density at  

Watch Video Solution

50∘C and 100∘C

25. Ram took an empty density bottle and a weighing

machine. He measures the density bottle and a weighing

machine. He measures the empty bottle and found it to

be 40 .g. He then completely �lled it with water and

https://dl.doubtnut.com/l/_oqPSAWx6rKmn
https://dl.doubtnut.com/l/_enHCHIsLQ0lE


weighed it to be 100 g. With this data can he calculate the

capacity of the density bottle? If so, what is its capacity

Watch Video Solution

26. The densities fo three substances A, B and C are given

below. If equal voumes of A, B and C are taken, arrange

then in increasing order of their masses. 

Watch Video Solution

https://dl.doubtnut.com/l/_enHCHIsLQ0lE
https://dl.doubtnut.com/l/_EXaNr47EQUbz


27. Triangulation method is used to determine the

distance between two places A and C. A triangle obtained

to a reduced scale is as shown below The ratio of the

actual distances from C to another place B: and A to B is

5. Determine the distance between A and C. The actual

distance between B and C is 20 km. 

Watch Video Solution

https://dl.doubtnut.com/l/_lOvRTM6b11g9


28. The weight of a body on the earth is 500 gf. The

volume of water displaced when it is immersed in water in

. Determine the density of the material fo the

body.

Watch Video Solution

250cm3

29. Ram took an empty ballon of mass 5 g and �lled it with

air. He then measured the mass of ballon �lled with air

tube to be 5.05 g. He considered the density of the air

�lled inside th ballon as  and found the

volume of air present inside the ballon. Find his answer.

Watch Video Solution

1.5   kg m− 3

https://dl.doubtnut.com/l/_lOvRTM6b11g9
https://dl.doubtnut.com/l/_cv1FENoD0fZb
https://dl.doubtnut.com/l/_OIpXJlZIxHIr


30. A stone of density  Kg  and mass 2 kg is

immeresed into a liquid, inside a graduted cylinder. The

reading on the graduated cylinder is before the

stone is immersed into it, the reading after the stone is

immersed in it is   .

A. (a) 14000

B. (b) 500

C. (c ) 5000

D. (d) 1400

Answer: D

Watch Video Solution

5 × 103 m− 3

1000cm3

________ cm3

https://dl.doubtnut.com/l/_OIpXJlZIxHIr
https://dl.doubtnut.com/l/_rLik4IJ7V4e7


31. The weight of the givensolid cylinder rodis 2512 N. 

The density of the body is  Kg .  

 

A. (a) 2512

B. (b) 25xx 12

C. (d) S

D. (d)10^(6)S

________ m− 3

(takeg = 10ms− 2)

103

https://dl.doubtnut.com/l/_rLik4IJ7V4e7
https://dl.doubtnut.com/l/_i9W8YHUgIKxT


Answer: D

Watch Video Solution

32. The mass of a density bottle when it is �lled with a

liquid of density 3000 kg  is 400 g and the mass of

the bottle when it is �lled with water is 200 g. The mass of

the empty density bottle is  g.

A. (a)10

B. (b) 100

C. (c )50

D. (d) 500

Answer: B

m− 3

__________

https://dl.doubtnut.com/l/_i9W8YHUgIKxT
https://dl.doubtnut.com/l/_Pl1pUpO3Zfx2


Watch Video Solution

33. 1 g  __________ cm^(-3)`

A. (a)

B. (b) 

C. (b) 

D. (d) 

Answer: D

Watch Video Solution

m− 3 = kg

109

106

10− 6

10( − 9)

https://dl.doubtnut.com/l/_Pl1pUpO3Zfx2
https://dl.doubtnut.com/l/_XyKzr8mWjYdz


34. In a particular scale A, one metreis divided into

500equal parts and in scale B one cm is divided into 5

equal parts and in scale C one mm is divided into 2 equal

parts, then the accuracy of .

A. (a)

B. (b) 

C. (c ) A=BgtCs

D. (d) A=B=C

Answer: b

Watch Video Solution

________

A > B > C

A = B < C

https://dl.doubtnut.com/l/_X2qSf9t9m4AR


35. A wire is wound over a pencil and placed over a scale

as shown in the �gure. The diameter of the given wire is

. 

A. (a) 1.45 cm

B. (b) 2.9 mm

C. (c ) 2.9 m

D. (d ) 1.45 mm

Answer: D

Watch Video Solution

________

https://dl.doubtnut.com/l/_zWmJqOUo2WKm


36. If the radius of a sphere is doubled, then the density

of the sphere is  times its original value.

A. (a)` 1//2

B. (b) 2

C. (c ) 4

D. (d) 

Answer: D

Watch Video Solution

________

1/8

https://dl.doubtnut.com/l/_zWmJqOUo2WKm
https://dl.doubtnut.com/l/_YGgSWTj4RxRb


37.  

A paper cutting is placedon a graph as shownin the

�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. (a) 378

B. (b) 186

C. (c ) 312

_________ Cm2

https://dl.doubtnut.com/l/_9Lrc0vuyloLc


D. (d) 156

Answer: C

Watch Video Solution

38. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

A. (a) 2

B. (b) 2000

C. (c ) 3.5

D. (c )3500

_________ m− 3

https://dl.doubtnut.com/l/_9Lrc0vuyloLc
https://dl.doubtnut.com/l/_AUSygX8Jkkey


Answer: B

Watch Video Solution

39.  

The density of the solid cylindrical bar shown in the �gure

https://dl.doubtnut.com/l/_AUSygX8Jkkey
https://dl.doubtnut.com/l/_QOPQ6JtcGPYm


is  kg  . The weight of the bar is  N.

(take g=10 m 

A. (a) 157

B. (b) 1570

C. (c ) 320

D. (d) 3.2

Answer: A

Watch Video Solution

5 × 103 m− 3 _________

s2

40. The readings in a graduated cylinder are  and

, respectively, before and after a metal alloy piece of

10cm3

20cm3

https://dl.doubtnut.com/l/_QOPQ6JtcGPYm
https://dl.doubtnut.com/l/_dndOB0YaDYJe


mass 200 g is put in it. Thedensity of the material of the

alloy is kg 

A. (a)

B. (b) 2xx10^(4)

C. (c ) 

D. (d) 2xx 10^(6)`

Answer: B

Watch Video Solution

________ m− 3

2 × 103

2 × 105

41. A stock of identical coins are placed on a scale as

shown in the �gure. The thickness of a coin is  _______

https://dl.doubtnut.com/l/_dndOB0YaDYJe
https://dl.doubtnut.com/l/_UKiJrs3vWcbZ


A. (a) 1.8 cm

B. (b)18 mm

C. (c ) 1.8 mm

D. (d) 0.18 m

Answer: C

Watch Video Solution

42. If the density of a sphere is reduced to  of its

original value, then the radius of the sphere is 

1/8

_________

https://dl.doubtnut.com/l/_UKiJrs3vWcbZ
https://dl.doubtnut.com/l/_GZwowjCXs8lK


times its original radius (assume that there is no change

in mass). S

A. 2

B. 4

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/4

https://dl.doubtnut.com/l/_GZwowjCXs8lK


43.  

A paper cutting is placed on a graph a as shown in the

�gure, each division on the X and Y axes represents a

distance o� 1 cm. The area of the paper cutting is

 .

A. 100

B. 112

__________ cm2

https://dl.doubtnut.com/l/_9JePCL884zJE


C. 93

D. 96

Answer: C

Watch Video Solution

44. Density of the material of a paper is o.4g .The

mass of the paper is 0.5 g and its length and breadth are

10 cm and 4 cm, respectively. Determine the thickness of

the paper.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_9JePCL884zJE
https://dl.doubtnut.com/l/_y6APXn4VpPyO


45. If the length, breadth and height of a cuboid are all

increased to 'n'times their original values of 'n'.

Watch Video Solution

46. A wooden block is tied to a metallic rod of mass 100 g

and immersed completely inwater. When the displaced

water is collected in water.

View Text Solution

47. A student was given a task to �nd the destiny of a

cube whose mass and side are 100 g and 5 cm,

respectively. What is his answer?

https://dl.doubtnut.com/l/_tR7BhrnCeWvY
https://dl.doubtnut.com/l/_5N9pDkRfSerJ
https://dl.doubtnut.com/l/_5SIoUswalFP0


Watch Video Solution

48. A physics student was given a 400 pages book and a

metre scale and asked to measure the thickness of the

paper in the book. Explain how can he measure it.

Watch Video Solution

49. A wire wound over a rod and placed over a scale, as

shown in �gure. Calculate the radius of the wire. 

Watch Video Solution

https://dl.doubtnut.com/l/_5SIoUswalFP0
https://dl.doubtnut.com/l/_xYwoNA0remzi
https://dl.doubtnut.com/l/_2Io6j4d7cBNW


50. A student took a spring balance calibrated in gf. He

then suspended an object of mass 1 kg to the spring

balance. Determine what would be the reading of the

spring balance.

Watch Video Solution

51. A physics scholar took two spring balances  and 

 that are calibrated on the surface of the Moon and

the Earth, respectively. He then weighed a body using

both  and  at a given place on the surface of the

earth. He determind the ratio of the readings. What is the

ratio?S

' S1'

(s2

S1 S2

https://dl.doubtnut.com/l/_2Io6j4d7cBNW
https://dl.doubtnut.com/l/_tGq8ASQvd3gs
https://dl.doubtnut.com/l/_IaFQXNC4ztlw


View Text Solution

52. A scientist took a physical balance and an object of

weight 10 kgwt from the Earth to the surface of the Moon.

There on the Moon, if he placed this 10 kgwt object on

one of the pansof physical balance, �nd the mass of the

object required to balance the physical balance.

Watch Video Solution

53. The change in volume of a gas with change in

temperature is plotted on a graph, as shown in he �gure.

https://dl.doubtnut.com/l/_IaFQXNC4ztlw
https://dl.doubtnut.com/l/_Lx1qk4oUuneT
https://dl.doubtnut.com/l/_Cf7GbZSLK2TO


Calculate the ratio of density at  

Watch Video Solution

50∘C and 100∘C

54. Ram took an empty density bottle and a weighing

machine. He measures the density bottle and a weighing

machine. He measures the empty bottle and found it to

be 40 .g. He then completely �lled it with water and

https://dl.doubtnut.com/l/_Cf7GbZSLK2TO
https://dl.doubtnut.com/l/_d8ikEBZUYgL8


weighed it to be 100 g. With this data can he calculate the

capacity of the density bottle? If so, what is its capacity

Watch Video Solution

55. The densities fo three substances A, B and C are given

below. If equal voumes of A, B and C are taken, arrange

then in increasing order of their masses. 

Watch Video Solution

https://dl.doubtnut.com/l/_d8ikEBZUYgL8
https://dl.doubtnut.com/l/_KkCQksU50Wgf


56. Triangulation method is used to determine the

distance between two places A and C. A triangle obtained

to a reduced scale is as shown below The ratio of the

actual distances from C to another place B: and A to B is

5. Determine the distance between A and C. The actual

distance between B and C is 20 km. 

Watch Video Solution

https://dl.doubtnut.com/l/_yEcQEGfbxl9N


57. The weight of a body on the earth is 500 gf. The

volume of water displaced when it is immersed in water in

. Determine the density of the material fo the

body.

Watch Video Solution

250cm3

58. Ram took an empty ballon of mass 5 g and �lled it with

air. He then measured the mass of ballon �lled with air

tube to be 5.05 g. He considered the density of the air

�lled inside th ballon as  and found the

volume of air present inside the ballon. Find his answer.

Watch Video Solution

1.5   kg m− 3

https://dl.doubtnut.com/l/_yEcQEGfbxl9N
https://dl.doubtnut.com/l/_4OMfujTdUdH4
https://dl.doubtnut.com/l/_KksRWpwfOyvT


Level 3

1. Two identical containers A and B are �lled with two

di�erent liquids of equal masses. The level of the liquid in

container A is found to be one-fourth of the level of the

liquid in container B. What is the ratio of thedensity of

two liquids? If the density of he liquid in the container A

is 2 " g " , then �nd the density of the mixture of the

two liquids.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_KksRWpwfOyvT
https://dl.doubtnut.com/l/_YOrg2u7x9ByU


2. Three places A,B and C form the vertices of a triangle. A

triangle to reduced scale is drawn as shown below. If the

actual distance between A nd C is 200 km, determine the

actual distance from Ato B and B to C,. 

Watch Video Solution

https://dl.doubtnut.com/l/_1SeQgMXGkugn


3. Two persons A and B are 40 m apart. Triangulation

method was used to measure the distance obtained is

place C and the person A. The triangle obtained is as

shown. The triangle is drawn from the positions of A and

B and the vertices P, Q and R correspond to the position

of A, B and the palce C, respectively. Determine the

distance between the person A and the place C. 

Watch Video Solution

https://dl.doubtnut.com/l/_0jeaufjru6F0


4. A physics student Ram was given an empty density

bottle, a physical balance and a certain liquid. He �rst

found the weight of empty density bottle to a be 50 gf

When completely �lled with a liquid, it weighs 130 gf. He

calculated the density of the liquid. What could be his

answer?

View Text Solution

5. Ram and Shyam were given cube A and cube B both

having same mass, respectively. The side of cube A is three

times that of the cube B. Ram and Shyam found the

https://dl.doubtnut.com/l/_0jeaufjru6F0
https://dl.doubtnut.com/l/_ERGoNOtMb3Ta
https://dl.doubtnut.com/l/_u1XINPrMaQWj


densities of A and B. What is the ratio of densities of A

and B?

Watch Video Solution

6. Two identical containers A and B are �lled with two

di�erent liquids of equal masses. The level of the liquid in

container A is found to be one-fourth of the level of the

liquid in container B. What is the ratio of thedensity of

two liquids? If the density of he liquid in the container A

is 2 " g " , then �nd the density of the mixture of the

two liquids.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_u1XINPrMaQWj
https://dl.doubtnut.com/l/_qHYGcT3e9XAo


7. Three places A,B and C form the vertices of a triangle. A

triangle to reduced scale is drawn as shown below. If the

actual distance between A nd C is 200 km, determine the

actual distance from Ato B and B to C,. 

Watch Video Solution

https://dl.doubtnut.com/l/_6iszC4yBa6lm


8. Two persons A and B are 40 m apart. Triangulation

method was used to measure the distance obtained is

place C and the person A. The triangle obtained is as

shown. The triangle is drawn from the positions of A and

B and the vertices P, Q and R correspond to the position

of A, B and the palce C, respectively. Determine the

distance between the person A and the place C. 

Watch Video Solution

https://dl.doubtnut.com/l/_jIuBj8LPi5cU


9. A physics student Ram was given an empty density

bottle, a physical balance and a certain liquid. He �rst

found the weight of empty density bottle to a be 50 gf

When completely �lled with a liquid, it weighs 130 gf. He

calculated the density of the liquid. What could be his

answer?

View Text Solution

10. Ram and Shyam were given cube A and cube B both

having same mass, respectively. The side of cube A is three

times that of the cube B. Ram and Shyam found the

https://dl.doubtnut.com/l/_jIuBj8LPi5cU
https://dl.doubtnut.com/l/_a7BoTfjmE1Tt
https://dl.doubtnut.com/l/_Z99PsJVQETEc


Test 1

densities of A and B. What is the ratio of densities of A

and B?

Watch Video Solution

1.  

A paper cutting is placedon a graph as shownin the

https://dl.doubtnut.com/l/_Z99PsJVQETEc
https://dl.doubtnut.com/l/_6L4FA6wKOSGx


�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. (a) 378

B. (b)186

C. (c ) 312

D. (d) 156

Answer: C

Watch Video Solution

_________ Cm2

2. A wire is wound over a pencil and placed over a scale as

shown in the �gure. The diameter of the given wire is

https://dl.doubtnut.com/l/_6L4FA6wKOSGx
https://dl.doubtnut.com/l/_RkRnuvvhhf7V


. 

A. (a) 1.45 cm

B. (b) 2.9 mm

C. (c ) 2.9 m

D. (d) 1.45 mm

Answer: D

Watch Video Solution

________

https://dl.doubtnut.com/l/_RkRnuvvhhf7V


3. 

A. (a)  (b) 

 (c ) 

 (d) 

B. 

C. 

D. 

Answer: A

Column A Column B

(A) Measuring cylinder (a) kgf, gf

(B) Gavitational units of weight (b) ml of cc

(C) 1 g cm− 3 (c) Zero weight

(D) Zero gravitational force (d) 1000  kg m− 3

A → b, B → a, C → d, D → c.

A → b, B → d, C → a, D → c,

A → c, B → d, C → b, D → a

A → a, B → c, C → b, D → d

https://dl.doubtnut.com/l/_iZWW0tsmfTlZ


Watch Video Solution

4. Assertion (A) : The weight of a body changes with

altitude. 

Reason (R ): The accelaration due to gravity changes with

altitude.

A. (a) Both A and R are true, and R is correct

explanation of A.

B. Both A and R are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. (D) A is false but R is true

https://dl.doubtnut.com/l/_iZWW0tsmfTlZ
https://dl.doubtnut.com/l/_BYZSpxvfHwkK


Answer: A

Watch Video Solution

5. Assertion (A): The liquid displaced by a solid cube of a

side 3 cm when completely immersed in the liquid is more

than displaced by a solid cube of side 2 cm. 

Reason (R ) : The liquid displaced by a solid increases with

increase in the volume of the solid.

A. (a) Both A and R are true and R is the correct

explanation of A.

B. (b) Both A and are true, but R is not the correct

explanation of A.

https://dl.doubtnut.com/l/_BYZSpxvfHwkK
https://dl.doubtnut.com/l/_qa1ixYWdHVxi


C. (c ) A is true but R is false.

D. (d) Both A and R are false.

Answer: A

Watch Video Solution

6. The densities of two liquids A and B are in the ratio

 If their masses are equal, write the following steps

in a sequential order to determine the ratio of their

volumes.

A. (a) Write the relation between density, mass and

volume for each of the liquid A and B.

15: 2

https://dl.doubtnut.com/l/_qa1ixYWdHVxi
https://dl.doubtnut.com/l/_8hr3MJzgcdPb


B. (b) Note the ratio of densities,  and 

C. Divide the two equations and get the volumes of

the two liquids using 

D. (d) Substitute the given value in the above formula

and �nd the ratio of .

Answer: A

Watch Video Solution

=
dA

dB

15

2

mA = mg

=
VA

VB

dB

dA

VA → VB

7. Di�erent units of density are kg , " g " , " kg " 

 and " g " .Arrange the following steps in a

m− 3 cm− 3

cm− 3 m− 3

https://dl.doubtnut.com/l/_8hr3MJzgcdPb
https://dl.doubtnut.com/l/_RiKwanPzOkWP


sequential order to write the ascending order of these

units.

A. (a) a d c b

B. (b) c b d a

C. (c ) a b d c

D. (d) a d b c

Answer: D

Watch Video Solution

8. Which of the following statements is//are incorrect?

A. (a) The weight os a body can be zero.

https://dl.doubtnut.com/l/_RiKwanPzOkWP
https://dl.doubtnut.com/l/_iV5OuwuM788e


B. (b) The weight of a body can be greater than zero.

C. (c ) The mass of a body can be zero.

D. (d) Both (a) and (c ).

Answer: C

Watch Video Solution

9. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

A. (a) 2

B. (b) 2000

_________ m− 3

https://dl.doubtnut.com/l/_iV5OuwuM788e
https://dl.doubtnut.com/l/_X3p4kcm9g752


C. (c ) 3.5

D. (d) 3500

Answer: B

Watch Video Solution

10. The whole length of a metre scale is divided into 500

equal parts then the smallest measurement that can be

measured by using the scale is .

A. (a) 0.5

B. (b) 0.005 m

C. (c ) 50 mm

_______

https://dl.doubtnut.com/l/_X3p4kcm9g752
https://dl.doubtnut.com/l/_WOvATHg0CzCm


D. (d) 2 mm

Answer: D

Watch Video Solution

11. Which among the following is (are) the units(s) of

pressure?

A. (a) N 

B. (b) gwt 

C. (c ) kgwt 

D. (d) All the above.

Answer: D

m− 2

cm− 2

m− 2

https://dl.doubtnut.com/l/_WOvATHg0CzCm
https://dl.doubtnut.com/l/_eBjpvn5efuxV


Watch Video Solution

12. In a particular scale A, one metreis divided into

500equal parts and in scale B one cm is divided into 5

equal parts and in scale C one mm is divided into 2 equal

parts, then the accuracy of .

A. (a)

B. (b) 

C. (c ) A = B gt C`

D. (d)

Answer: B

Watch Video Solution

________

A > B > C

A = B > C

A = B > C

https://dl.doubtnut.com/l/_eBjpvn5efuxV
https://dl.doubtnut.com/l/_BlvaRSQTUr9x


13. If the radius of a sphere is doubled, then the density of

the sphere is  times its original value.

A. (a) 

B. (b) 2

C. (c ) 4

D. (d) 

Answer: D

Watch Video Solution

________

1/2

1/8

https://dl.doubtnut.com/l/_BlvaRSQTUr9x
https://dl.doubtnut.com/l/_9h1oL50jtpbZ


14.  

The density of the solid cylindrical bar shown in the �gure

is  kg  . The weight of the bar is  N.

(take g=10 m 

A. (a) 157

B. (b) 1570

5 × 103 m− 3 _________

s2

https://dl.doubtnut.com/l/_wv3Phu9TX58G


C. (c ) 320

D. (d) 3.2

Answer: A

Watch Video Solution

15. An atlas of a country is shown in the �gure, the

distance between cities A and B is______ 

https://dl.doubtnut.com/l/_wv3Phu9TX58G
https://dl.doubtnut.com/l/_GQgEPUzci8Lr


A. (a) 35 km

B. (b) 3500 m

C. (c ) 350 km

D. (d) Both (a) and (b).

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_GQgEPUzci8Lr


16.  

A paper cutting is placedon a graph as shownin the

�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. (a) 378

B. (b)186

C. (c ) 312

_________ Cm2

https://dl.doubtnut.com/l/_GQgEPUzci8Lr
https://dl.doubtnut.com/l/_8XZa35zgEtVi


D. (d) 156

Answer: C

Watch Video Solution

17. A wire is wound over a pencil and placed over a scale

as shown in the �gure. The diameter of the given wire is

. 

A. (a) 1.45 cm

B. (b) 2.9 mm

________

https://dl.doubtnut.com/l/_8XZa35zgEtVi
https://dl.doubtnut.com/l/_wOX89Kw9lYih


C. (c ) 2.9 m

D. (d) 1.45 mm

Answer: D

Watch Video Solution

18. 

A. (a)  (b) 

 (c ) 

Column A Column B

(A) Measuring cylinder (a) kgf, gf

(B) Gavitational units of weight (b) ml of cc

(C) 1 g cm− 3 (c) Zero weight

(D) Zero gravitational force (d) 1000  kg m− 3

A → b, B → a, C → d, D → c.

A → b, B → d, C → a, D → c,

https://dl.doubtnut.com/l/_wOX89Kw9lYih
https://dl.doubtnut.com/l/_6cr0Vk0KW0yT


 (d) 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A → c, B → d, C → b, D → a

A → a, B → c, C → b, D → d

19. Assertion (A) : The weight of a body changes with

altitude. 

Reason (R ): The accelaration due to gravity changes with

altitude.

https://dl.doubtnut.com/l/_6cr0Vk0KW0yT
https://dl.doubtnut.com/l/_R3JFNe3BTTcO


A. (a) Both A and R are true, and R is correct

explanation of A.

B. Both A and R are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. 

Answer: A

Watch Video Solution

20. Assertion (A): The liquid displaced by a solid cube of a

side 3 cm when completely immersed in the liquid is more

than displaced by a solid cube of side 2 cm. 

https://dl.doubtnut.com/l/_R3JFNe3BTTcO
https://dl.doubtnut.com/l/_CE5uI6Obv1o5


Reason (R ) : The liquid displaced by a solid increases with

increase in the volume of the solid.

A. (a) Both A and R are true and R is the correct

explanation of A.

B. (b) Both A and are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. (d) Both A and R are false.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_CE5uI6Obv1o5


21. The densities of two liquids A and B are in the ratio

 If their masses are equal, write the following steps

in a sequential order to determine the ratio of their

volumes.

A. (a) Write the relation between density, mass and

volume for each of the liquid A and B.

B. (b) Note the ratio of densities,  and 

C. Divide the two equations and get the volumes of

the two liquids using 

D. (d) Substitute the given value in the above formula

and �nd the ratio of .

15: 2

=
dA

dB

15

2

mA = mg

=
VA

VB

dB

dA

VA → VB

https://dl.doubtnut.com/l/_HPIWIEVdtFlG


Answer: A

Watch Video Solution

22. Di�erent units of density are kg , " g " , " kg "

 and " g " .Arrange the following steps in a

sequential order to write the ascending order of these

units.

A. (a) a d c b

B. (b) c b d a

C. (c ) a b d c

D. (d) a d b c

Answer: D

m− 3 cm− 3

cm− 3 m− 3

https://dl.doubtnut.com/l/_HPIWIEVdtFlG
https://dl.doubtnut.com/l/_uxvCqKOK5TIq


Watch Video Solution

23. Which of the following statements is//are incorrect?

A. (a) The weight os a body can be zero.

B. (b) The weight of a body can be greater than zero.

C. (c ) The mass of a body can be zero.

D. (d) Both (a) and (c ).

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_uxvCqKOK5TIq
https://dl.doubtnut.com/l/_0YHmcDOLfYkS


24. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

A. (a) 2

B. (b) 2000

C. (c ) 3.5

D. (d) 3500

Answer: B

Watch Video Solution

_________ m− 3

https://dl.doubtnut.com/l/_vpPOnQikCOKl


25. The whole length of a metre scale is divided into 500

equal parts then the smallest measurement that can be

measured by using the scale is .

A. (a) 0.5

B. (b) 0.005 m

C. (c ) 50 mm

D. (d) 2 mm

Answer: D

Watch Video Solution

_______

https://dl.doubtnut.com/l/_R2Tx0sQxp6j2


26. Which among the following is (are) the units(s) of

pressure?

A. (a) N 

B. (b) gwt 

C. (c ) kgwt 

D. (d) All the above.

Answer: D

Watch Video Solution

m− 2

cm− 2

m− 2

27. In a particular scale A, one metreis divided into

500equal parts and in scale B one cm is divided into 5

https://dl.doubtnut.com/l/_Xak6qDqKT7ZD
https://dl.doubtnut.com/l/_wlqJkhEBt5tR


equal parts and in scale C one mm is divided into 2 equal

parts, then the accuracy of .

A. (a)

B. (b) 

C. (c ) A = B gt C`

D. (d)

Answer: B

Watch Video Solution

________

A > B > C

A = B > C

A = B > C

28. If the radius of a sphere is doubled, then the density

of the sphere is  times its original value.________

https://dl.doubtnut.com/l/_wlqJkhEBt5tR
https://dl.doubtnut.com/l/_qzZKrJgjaxjX


A. (a) 

B. (b) 2

C. (c ) 4

D. (d) 

Answer: D

Watch Video Solution

1/2

1/8

https://dl.doubtnut.com/l/_qzZKrJgjaxjX


29.  

The density of the solid cylindrical bar shown in the �gure

is  kg  . The weight of the bar is  N.

(take g=10 m 

A. (a) 157

B. (b) 1570

5 × 103 m− 3 _________

s2

https://dl.doubtnut.com/l/_ay1DXTmgl8vk


C. (c ) 320

D. (d) 3.2

Answer: A

Watch Video Solution

30. An atlas of a country is shown in the �gure, the

distance between cities A and B is______ 

https://dl.doubtnut.com/l/_ay1DXTmgl8vk
https://dl.doubtnut.com/l/_8DDTZzTtmQ8K


A. (a) 35 km

B. (b) 3500 m

C. (c ) 350 km

D. (d) Both (a) and (b).

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_8DDTZzTtmQ8K


Test 2

1.  

A paper cutting is placedon a graph as shownin the

�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. (a) 100

_________ Cm2

https://dl.doubtnut.com/l/_8DDTZzTtmQ8K
https://dl.doubtnut.com/l/_w63S7pfZzTUi


B. (b) 112

C. (c ) 93

D. (d) 96

Answer: C

Watch Video Solution

2. A stock of identical coins are placed on a scale as shown

in the �gure. The thickness of a coin is  

A. (a) 1.8 cm

_______

https://dl.doubtnut.com/l/_w63S7pfZzTUi
https://dl.doubtnut.com/l/_7pBUhuvYvXjd


B. (b) 18 mm

C. ( c) 1.8

D. (d) 0.18 m

Answer: C

Watch Video Solution

3. 

A. 

B. 

Column A Column B

(A) Liquid displaced by solid (a) 105g

(B) 1 quintal (b) 109mg

(c) 1 tonne (c) Unit of pressure

(D) kgwt m− 2 (d)  Volume of the solid

A → a, B → b, C → c, D → d

A → d, B → c, C → b, D → a

https://dl.doubtnut.com/l/_7pBUhuvYvXjd
https://dl.doubtnut.com/l/_F3KoPPepz4aR


C. 

D. 

Answer: C

Watch Video Solution

A → d, B → a, C → b, D → c

A → d, B → b, C → c, D → a

4. Assertion (A): The masss of  of iron is greater

than the mass of 150 m^(3) of wood.

Reason (R): The densiy of iron is less than the density of

wood.

A. (a) Both A and R are true and R is the correct

explanation of A.

150m3

https://dl.doubtnut.com/l/_F3KoPPepz4aR
https://dl.doubtnut.com/l/_glaDinQh2zMl


B. (b) Both A and R are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. (d) Both A and R are false.

Answer: C

Watch Video Solution

5. Assertion (A) : The magnitude of volume of any liquid is

equal to the magnitude of its mass what measured in CGS

system. 

Reason (R ) : Density of the liquid = mass of the liquid 

volume of the liquid.

×

https://dl.doubtnut.com/l/_glaDinQh2zMl
https://dl.doubtnut.com/l/_CfkHCIoOdCMA


A. (a) Both A and R are true and R is the correct

explaanation of A.

B. (b) Both A and R are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. (d) Both A and R are false.

Answer: D

Watch Video Solution

6. Write the following steps in a sequential arder to show

that the volume of a liquid displaced by a solid, which is

insouble and completely immrsed in a liquid increases

https://dl.doubtnut.com/l/_CfkHCIoOdCMA
https://dl.doubtnut.com/l/_xguTjpvPejED


with increase in the volume of the solid. 

(a) The displaced liquid is collected in a beaker and its

volume is measured with the help of a measuring cylinder.

(b) Di�erent objects, such as glass, stone, stc., of di�erent

liquid such as water, kerosene, etc. 

(c ) The phenomenon is observed at di�erent places and

di�erent times. 

(d) It is observed that the volume of displaced liquid

increases as the volume of the solid increases.

A. a d b c

B. c d a d

C. b a c d

D. b d c a

https://dl.doubtnut.com/l/_xguTjpvPejED


Answer: C

View Text Solution

7. The unit of force in SI system is newton and it is given

as 1 newton = . In CGS system its unit is dyne

and it is given as 1 dyne = 1 g cm s^(2). Arrange the

following steps in a sequential order to relate the SI unit

and CGS unit of force. 

(a) Write the conversations of kg and m, into g and cm,

respectively. 

(b) Substitute the conversations in 1 newton = 

Write the relation between 1 newton and dyne. 

(d) Write in place of 1 g cm s^(-2) as 1 dyne

1kgms− 2

1kgms2

https://dl.doubtnut.com/l/_xguTjpvPejED
https://dl.doubtnut.com/l/_kXERczLZmuza


A. a c b d

B. a b d c

C. b d a c

D. c d a b

Answer: B

Watch Video Solution

8. Which of the following statement is wrong?

A. The mass of a body can be measured by using a

beam balance.

https://dl.doubtnut.com/l/_kXERczLZmuza
https://dl.doubtnut.com/l/_pxVD7B1iqpOD


B. The weight of a body can be measured by using a

spring balance.

C. The density of a body can be measured by using a

spring balance.

D. The weight of a body cannot be measured by using

a beam balance.

Answer: C

Watch Video Solution

9. The mass of a density bottle when it is �lled with a

liquid of density 3000 kg  is 400 g and the mass of

the bottle when it is �led with water is 200 g. The mass of

m− 3

https://dl.doubtnut.com/l/_pxVD7B1iqpOD
https://dl.doubtnut.com/l/_BQdNdLDOkfqi


the empty density bottle when it is �lled with water is 200

g. The mass of the empty density bottle is  g.

A. 10

B. 100

C. 50

D. 500

Answer: B

Watch Video Solution

_____

10. If the smallest measurement that can be measured by

using a scale is 0.1 mm, then the length of 1 m in the scale

is divided inot __________ equal parts.

https://dl.doubtnut.com/l/_BQdNdLDOkfqi
https://dl.doubtnut.com/l/_K3vSoYO1i1qc


A. 1000

B. 5000

C. 10000

D. 50000

Answer: C

Watch Video Solution

11. Which among the folloeing is the unit of energy?

A. joule

B. watt

C. newton

https://dl.doubtnut.com/l/_K3vSoYO1i1qc
https://dl.doubtnut.com/l/_VXs7CTz6ik6E


D. All the above

Answer: A

Watch Video Solution

12. Which of the following scale gives more accurate

reading?

A. One metre in a scale is divided into 1000 equal

parts.

B. One cm in a scale is divided into 2 equal parts.

C. One mm in a scale is divided into 2 equal parts.

D. One cm in a scale is divided into 5 equal parts.

https://dl.doubtnut.com/l/_VXs7CTz6ik6E
https://dl.doubtnut.com/l/_q7gXIf778rHo


Answer: C

Watch Video Solution

13. If the density of a sphere is reduced to  of its

original value, then the radius of the sphere is 

times its original radius (assume that there is no change

in mass). S

A. 2

B. 4

C. 

D. 

Answer: A

1/8

_________

1/2

1/4

https://dl.doubtnut.com/l/_q7gXIf778rHo
https://dl.doubtnut.com/l/_9p1wVYOBWVA2


Watch Video Solution

14. The weight of the givensolid cylinder rodis 2512 N. 

The density of the body is  Kg .  

 

A. 2512

B. 

C. 

________ m− 3

(takeg = 10ms− 2)

25 × 12

103

https://dl.doubtnut.com/l/_9p1wVYOBWVA2
https://dl.doubtnut.com/l/_m7rIH4Cu9rLf


D. 

Answer: D

Watch Video Solution

106

15. An atlas of India is drawn by taking scale 10 cm=15000

km. If the actual distance between the cities of Bhopal

and cochin is 1500 km, the distance between the two

places in the atlas will be_____cm.

A. 10

B. 1

C. 10000

D. 1000

https://dl.doubtnut.com/l/_m7rIH4Cu9rLf
https://dl.doubtnut.com/l/_4KzRLyN0Xs85


Answer: A

Watch Video Solution

16.  

A paper cutting is placed on a graph a as shown in the

�gure, each division on the X and Y axes represents a

https://dl.doubtnut.com/l/_4KzRLyN0Xs85
https://dl.doubtnut.com/l/_5qoIXSd2dR7p


distance o� 1 cm. The area of the paper cutting is

 .

A. (a) 100

B. (b) 112

C. (c ) 93

D. (d) 96

Answer: C

Watch Video Solution

__________ cm2

17. A stock of identical coins are placed on a scale as

shown in the �gure. The thickness of a coin is  _______

https://dl.doubtnut.com/l/_5qoIXSd2dR7p
https://dl.doubtnut.com/l/_dtQnbRv0veXz


A. (a) 1.8 cm

B. (b) 18 mm

C. ( c) 1.8

D. (d) 0.18 m

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_dtQnbRv0veXz


18. 

A. `A to a, B to b, C to c, D to d

B. A`to d, B to c, C to b, D to a

C. 

D. 

Answer: C

Watch Video Solution

Column A Column B

(A) Liquid displaced by solid (a) 105g

(B) 1 quintal (b) 109mg

(c) 1 tonne (c) Unit of pressure

(D) kgwt m− 2 (d)  Volume of the solid

A → d, B → a, C → b, D → c

A → d, B → b, C → c, D → a

https://dl.doubtnut.com/l/_2C7OUbuvXhJf


19. Assertion (A): The masss of  of iron is greater

than the mass of 150 m^(3) of wood.

Reason (R): The densiy of iron is less than the density of

wood.

A. (a) Both A and R are true and R is the correct

explanation of A.

B. (b) Both A and R are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. (d) Both A and R are false.

Answer: C

Watch Video Solution

150m3

https://dl.doubtnut.com/l/_ZOvbcbk3U4TN


20. Assertion (A) : The magnitude of volume of any liquid

is equal to the magnitude of its mass what measured in

CGS system. 

Reason (R ) : Density of the liquid = mass of the liquid 

volume of the liquid.

A. (a) Both A and R are true and R is the correct

explaanation of A.

B. (b) Both A and R are true, but R is not the correct

explanation of A.

C. (c ) A is true but R is false.

D. (d) Both A and R are false.

×

https://dl.doubtnut.com/l/_ZOvbcbk3U4TN
https://dl.doubtnut.com/l/_KhcOqTaC1whP


Answer: D

Watch Video Solution

21. Write the following steps in a sequential arder to show

that the volume of a liquid displaced by a solid, which is

insouble and completely immrsed in a liquid increases

with increase in the volume of the solid. 

(a) The displaced liquid is collected in a beaker and its

volume is measured with the help of a measuring cylinder.

(b) Di�erent objects, such as glass, stone, stc., of di�erent

liquid such as water, kerosene, etc. 

(c ) The phenomenon is observed at di�erent places and

di�erent times. 

https://dl.doubtnut.com/l/_KhcOqTaC1whP
https://dl.doubtnut.com/l/_oOYpTbeHM7nX


(d) It is observed that the volume of displaced liquid

increases as the volume of the solid increases.

A. a d b c

B. c d a d

C. b a c d

D. b d c a

Answer: C

View Text Solution

22. The unit of force in SI system is newton and it is given

as 1 newton = . In CGS system its unit is dyne

and it is given as 1 dyne = 1 g cm s^(2). Arrange the

1kgms− 2

https://dl.doubtnut.com/l/_oOYpTbeHM7nX
https://dl.doubtnut.com/l/_NjRCkn3yYhoK


following steps in a sequential order to relate the SI unit

and CGS unit of force. 

(a) Write the conversations of kg and m, into g and cm,

respectively. 

(b) Substitute the conversations in 1 newton = 

Write the relation between 1 newton and dyne. 

(d) Write in place of 1 g cm s^(-2) as 1 dyne

A. a c b d

B. a b d c

C. b d a c

D. c d a b

Answer: B

Watch Video Solution

1kgms2

https://dl.doubtnut.com/l/_NjRCkn3yYhoK


23. Which of the following statement is wrong?

A. The mass of a body can be measured by using a

beam balance.

B. The weight of a body can be measured by using a

spring balance.

C. The density of a body can be measured by using a

spring balance.

D. The weight of a body cannot be measured by using

a beam balance.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NjRCkn3yYhoK
https://dl.doubtnut.com/l/_dMdOszdqpudo


Watch Video Solution

24. The mass of a density bottle when it is �lled with a

liquid of density 3000 kg  is 400 g and the mass of

the bottle when it is �lled with water is 200 g. The mass of

the empty density bottle is  g.

A. 10

B. 100

C. 50

D. 500

Answer: B

Watch Video Solution

m− 3

__________

https://dl.doubtnut.com/l/_dMdOszdqpudo
https://dl.doubtnut.com/l/_n73YMUL3uP0L
https://dl.doubtnut.com/l/_41Fv7Op5QdhX


25. If the smallest measurement that can be measured by

using a scale is 0.1 mm, then the length of 1 m in the scale

is divided inot __________ equal parts.

A. 1000

B. 5000

C. 10000

D. 50000

Answer: C

Watch Video Solution

26. Which among the folloeing is the unit of energy?

https://dl.doubtnut.com/l/_41Fv7Op5QdhX
https://dl.doubtnut.com/l/_gXevEGDFFY8V


A. joule

B. watt

C. newton

D. All the above

Answer: A

Watch Video Solution

27. Which of the following scale gives more accurate

reading?

A. One metre in a scale is divided into 1000 equal

parts.

https://dl.doubtnut.com/l/_gXevEGDFFY8V
https://dl.doubtnut.com/l/_qLXskyApwmfb


B. One cm in a scale is divided into 2 equal parts.

C. One mm in a scale is divided into 2 equal parts.

D. One cm in a scale is divided into 5 equal parts.

Answer: C

Watch Video Solution

28. If the density of a sphere is reduced to  of its

original value, then the radius of the sphere is 

times its original radius (assume that there is no change

in mass). S

A. 2

B. 4

1/8

_________

https://dl.doubtnut.com/l/_qLXskyApwmfb
https://dl.doubtnut.com/l/_WPNfw7NNt4gj


C. 

D. 

Answer: A

Watch Video Solution

1/2

1/4

29. The weight of the givensolid cylinder rodis 2512 N. 

The density of the body is  Kg .  

 

________ m− 3

(takeg = 10ms− 2)

https://dl.doubtnut.com/l/_WPNfw7NNt4gj
https://dl.doubtnut.com/l/_WTcRT7y8GRfX


A. 2512

B. 

C. 

D. 

Answer: D

Watch Video Solution

25 × 12

103

106

30. An atlas of india is drawn by taking scale 100 cm =

15000 km. If the actual distance between the cties of

bhopal and Cochin in 1500 km, the distance between the

two places in the atlas will be __________cm.

A. 10

https://dl.doubtnut.com/l/_WTcRT7y8GRfX
https://dl.doubtnut.com/l/_ByHkHV7AJ7y0


Test Your Concepts Very Short Answer Type Questions Fill In

The Blanks

B. 1

C. 10000

D. 1000

Answer: A

Watch Video Solution

1. 10 g of water occupies..................  of volume.

View Text Solution

cm3

https://dl.doubtnut.com/l/_ByHkHV7AJ7y0
https://dl.doubtnut.com/l/_lXFqdDOTX5kE
https://dl.doubtnut.com/l/_TPrV8x9rmg0r


2. The mass of a body does not change with change

in..................

View Text Solution

3. The CGS unit of pressure is..................

Watch Video Solution

4. As the temperature of the gas decreases, its

density..................

View Text Solution

https://dl.doubtnut.com/l/_TPrV8x9rmg0r
https://dl.doubtnut.com/l/_u6PpHimA6WZu
https://dl.doubtnut.com/l/_09z9z5l7AlLK


5. The smallest length that can be accurately measured by

using a metre scale is ..................cm.

View Text Solution

6. Density of water ..................is than the density of cooking

oil.

Watch Video Solution

7. Weight of a body varies according to the variation in

the..................

Watch Video Solution

https://dl.doubtnut.com/l/_6AqQ5NLk9o5q
https://dl.doubtnut.com/l/_7Uu6acJ3IIAg
https://dl.doubtnut.com/l/_ZAPAmcHz6HEs


Test Your Concepts Very Short Answer Type Questions M C Q

8. The CGS unit of volume is____.

Watch Video Solution

1. The density of a body is 500 kg . Then its

equivalent value in CGS system is______.

Watch Video Solution

m− 3

2. The area of a square plot is 100 . Then the value of

its perimeter is____m.

Watch Video Solution

m2

https://dl.doubtnut.com/l/_n5s9TmXCpren
https://dl.doubtnut.com/l/_FOOrJe5VaARJ
https://dl.doubtnut.com/l/_B6RfeEjOY5FG


Watch Video Solution

3. The smallest measurement that can be measure by

using a wall clock is _____.

A. 1 second

B. 1 minute

C. 1 hour

D. 2 second

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_B6RfeEjOY5FG
https://dl.doubtnut.com/l/_xQNz0JuUVDBv


4. The length and breadth of a rectangle are 2 m and 5m,

respectively, the area of the reactangle is______.

A. 

B. 

C. 

D. Both a and b

Answer: C

Watch Video Solution

10m2

100000cm2

1km2

5. If the density of a substance is , then

the mass of  of this substance is……………….

2xx103  kg m − 3

5m3

https://dl.doubtnut.com/l/_LbviABoZKjTZ
https://dl.doubtnut.com/l/_60fIgq5z1WVx


A. 1000 kg

B. 10000 g

C. 10000kg

D. Both a and b

Answer: A

Watch Video Solution

6. The mass of a body of weight 200 gf is _____g.

A. 200

B. 300

C. 400

https://dl.doubtnut.com/l/_60fIgq5z1WVx
https://dl.doubtnut.com/l/_9nEtf8p6g7W8


D. 20

Answer: A

Watch Video Solution

7. A pile of identical one rupee coins are placed over a

metre scale as shown in the �gure. The thickness of a one

rupee coin is_____ 

A. 1.56mm

B. 1.56cm

https://dl.doubtnut.com/l/_9nEtf8p6g7W8
https://dl.doubtnut.com/l/_nvnyAoT8UHbn


C. 1.67mm

D. 1.67cm

Answer: B

Watch Video Solution

8. 5 litre of a liquid weights 5kg. The density of liquid

is_____.

A. 

B. 

C. 

D. 

1 kg m − 3

1 g cm − 3

100 kg m − 3

100 g m − 3

https://dl.doubtnut.com/l/_nvnyAoT8UHbn
https://dl.doubtnut.com/l/_238BoQRjos9H


Answer: A

Watch Video Solution

9. 1 kilogram is equal to _____.

A. 1000 gram

B. 100 gram

C. 1000 milligram

D. 100 milligram

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_238BoQRjos9H
https://dl.doubtnut.com/l/_7Km8CkGF8FVl
https://dl.doubtnut.com/l/_CnNOatcUGwWq


10. Mass is measured by using a______.

A. spring balance

B. physical balance

C. measuring jar

D. metre scale

Answer: B

Watch Video Solution

11. 1kg 

A. 1000 g 

B. 

m− 3 = ………. .

m− 3

 g m − 31

1000

https://dl.doubtnut.com/l/_CnNOatcUGwWq
https://dl.doubtnut.com/l/_gW0nWBs5PUEC


C. 

D. 

Answer: D

Watch Video Solution

1000  kg m − 3

1  g m − 3

12. The distance between two cities A ad B in a map is 7.5

cm. the scale taken for drawing this map is

1cm=1,50,000m. The actual distance between A and B

is____km.

A. 1125000

B. 20000

C. 200

https://dl.doubtnut.com/l/_gW0nWBs5PUEC
https://dl.doubtnut.com/l/_hGElgsJUCBvs


D. 1125

Answer: D

Watch Video Solution

13. L

A. 1

B. 10

C. 100

D. 1000

Answer: D

Watch Video Solution

1m3 = ?

https://dl.doubtnut.com/l/_hGElgsJUCBvs
https://dl.doubtnut.com/l/_jDFLgrzzYkIT


14. The whole length of a metre scale is divided into 500

equal parts then the smallest measurement that can be

measured by using the scale is .

A. 0.5m

B. 0.005m

C. 50mm

D. 2mm

Answer: D

Watch Video Solution

_______

https://dl.doubtnut.com/l/_jDFLgrzzYkIT
https://dl.doubtnut.com/l/_DEqlUh9NrnQL


15. Which among the following is (are) the units(s) of

pressure?

A. 

B. 

C. 

D. All of the above

Answer: C

Watch Video Solution

Nm− 2

gwtcm− 2

kgwtm− 2

16. Which of the following statement(s) is/are incorrect ?

https://dl.doubtnut.com/l/_tWbSuEQLixK4
https://dl.doubtnut.com/l/_GPyqchEWUprb


A. The weight of a body can be zero.

B. The weight of a body can be greater than zero.

C. The mass of a body can be zero.

D. Both (a) and (c)

Answer: C

Watch Video Solution

17. Volume of an irregular shaped solid can be measured

by using a____

A. density bottle

B. spring balance

https://dl.doubtnut.com/l/_GPyqchEWUprb
https://dl.doubtnut.com/l/_Y9mk8i1aXJF9


C. measuring cylinder

D. physical balance

Answer: C

Watch Video Solution

18. Which of the following statement is incorrect

A. As the temperature of a gas increases, its volume

increases.

B. As the temperature of a gas increases, its density

decreases.

https://dl.doubtnut.com/l/_Y9mk8i1aXJF9
https://dl.doubtnut.com/l/_45L3NXnt3ROa


C. As the temperature of a gas increases, its density

increases.

D. Both (a) and (c)

Answer: B

Watch Video Solution

19. An atlas of a country is shown in the �gure, the

distance between cities A and B is______ 

https://dl.doubtnut.com/l/_45L3NXnt3ROa
https://dl.doubtnut.com/l/_jkvsz2m1Alyb


A. 35km

B. 3500m

C. 350km

D. Both (a) and (c)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jkvsz2m1Alyb


20. Arrange the following steps in a sequence of �nd the

vlume oof an irregular shaped solid body. 

(A). The irregular shaped solid is tied with the thread and

is lowered into the measuring cylinder. 

(B). A measuring cylinder with graduations in millilitre or

cubic centimetrer is taken. 

(C). The level of water in the measuring cylinder rises after

immersion of the solid. (say )  

(D) First, it is �lled with water to a certain level of volume.

(say )  

(E). The volume of the stone is equal to the di�erence

between the volume of the water before and after the

immersion of the stone. .

V2

V1

(V2 − V1)

https://dl.doubtnut.com/l/_jkvsz2m1Alyb
https://dl.doubtnut.com/l/_2YC0BuauBDsO


A. ABCDE

B. BCADE

C. BDACE

D. EDACB

Answer: C

Watch Video Solution

21. Density of the material of a paper is given a 0.5 g

. The mass of the paper is 1 g and its length and

breadth are 10 c and 5 cm, respectively. Arrange the

following steps in a sequence to �nd the thickness of the

paper. 

cm− 3

https://dl.doubtnut.com/l/_2YC0BuauBDsO
https://dl.doubtnut.com/l/_EOg08IQEBm3l


(A). The 0thickness of the paper is

  

(B) The density (d) of the material of the paper is

  

(C). then the volume (V) o the paper 

  

(D). The volume (V) of the paper is=length breadth

thickness of the paper.

A. The thickness of the paper is

B. The density (d) of the material of the paper is

Volume of the paper (m)

Vlume of the paper (V)

=
Mass of the paper (m)

volume of the paper (V)

=
Mass of the paper (m)

Density (d) of the paper

× ×

=
volume (V)of the paper

length ×  breadth

=
mass of the paper(m)

volume of the paper(V)

https://dl.doubtnut.com/l/_EOg08IQEBm3l


Test Your Concepts Very Short Answer Type Questions Match

The Column

C. Then the volume (V) of the paper

D. The volume (V) of the paper is =length

Answer: D

Watch Video Solution

=
mass of the paper (m)

density (d) of the paper

×  breadth × thickness of the paper.

1. Match the entries given in Column A with the

appropriate ones in Column B.

https://dl.doubtnut.com/l/_EOg08IQEBm3l
https://dl.doubtnut.com/l/_aPjvjvluDF9o


Watch Video Solution

2. Match the entries given in Column A with the

appropriate ones in Column B.

https://dl.doubtnut.com/l/_aPjvjvluDF9o
https://dl.doubtnut.com/l/_zBoHpSa3Gloe


Test Your Concepts Very Short Answer Type Questions

Watch Video Solution

1. Match the entries given in Column A with the

appropriate ones in Column B.

https://dl.doubtnut.com/l/_zBoHpSa3Gloe
https://dl.doubtnut.com/l/_Kuh4rdVCSUUn


Watch Video Solution

2. What is the meaning of the word science?

Watch Video Solution

https://dl.doubtnut.com/l/_Kuh4rdVCSUUn
https://dl.doubtnut.com/l/_eu1cI03enrEW


3. Express the density 2 g  in SI system.

Watch Video Solution

cm− 3

4. How does the density of a solid change with minor

changes in temperature?

Watch Video Solution

5. Name the device used to measure the volume of an

irregular solid.

Watch Video Solution

https://dl.doubtnut.com/l/_vrttu4klWMTu
https://dl.doubtnut.com/l/_fnZgRyz4NG7d
https://dl.doubtnut.com/l/_97eoxLQV36lL
https://dl.doubtnut.com/l/_i62pJeXcL41U


6. How is the volume of a regular solid determined?

Watch Video Solution

7. What is the consequence of change in density of liquids

with temperature?

Watch Video Solution

8. Name the method used to measure the distance

between stars.

Watch Video Solution

https://dl.doubtnut.com/l/_i62pJeXcL41U
https://dl.doubtnut.com/l/_JC0DvwdxVUEl
https://dl.doubtnut.com/l/_lV2BNfea2lOG


9. De�ne one kilogram weight.

Watch Video Solution

10. De�ne one gram force.

Watch Video Solution

11. Will mass of the solid body changes with change in its

volume?

Watch Video Solution

https://dl.doubtnut.com/l/_l1JFGMvXxa17
https://dl.doubtnut.com/l/_RCdcmOKmxTZx
https://dl.doubtnut.com/l/_3nfGl0YkZYBF


12. What is convection current?

Watch Video Solution

13. What are the common multiple and submultiple units

of mass? Express them in terms of kg.

Watch Video Solution

14. Write CGS units o area, force, temperature and heat.

Watch Video Solution

https://dl.doubtnut.com/l/_WrxnoruVLkTI
https://dl.doubtnut.com/l/_YDSLAIoRCsPL
https://dl.doubtnut.com/l/_GMVxDVLFGXDc


15. What are the �ve main branches of Physics?

Watch Video Solution

16. Explain the steps through which science is applied.

Watch Video Solution

17. What causes the formation of the land and sea

breezes.?

Watch Video Solution

https://dl.doubtnut.com/l/_T2bdmHBQq5x3
https://dl.doubtnut.com/l/_bYzVf1H2IUIy
https://dl.doubtnut.com/l/_YVW3it9LZWdg


18. How does the weight of a body change with the

change in altitude?

Watch Video Solution

19. Convert 1 m  into cm .

Watch Video Solution

s− 2 s− 2

20. How does the density of a solid change with minor

changes in temperature?

Watch Video Solution

https://dl.doubtnut.com/l/_Z45nGhEjcx4T
https://dl.doubtnut.com/l/_MNHrfe6t7Qj8
https://dl.doubtnut.com/l/_sxdOTfaOsMKt
https://dl.doubtnut.com/l/_xK4AkX3Uj7mY


Test Your Concepts Short Answer Type Questions

21. What is a systematic error ? How can it be removed ?

Watch Video Solution

1. The mass of a bottle �lled with water is found to be 150

g. the mass of the empty bottle is 50 g ad the external

vlume o the container is 125 . Find out the density of

the material of the bottle.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_xK4AkX3Uj7mY
https://dl.doubtnut.com/l/_hyxu53BFdi3w


2. Ten identical metalic balls of density 5 g  when

dropped inito water, the volume of the water diplaced is

found to be 500 . Determine the mass of each

metallic ball.

Watch Video Solution

cm− 3

cm3

3. When 20 drops of water is added to a graduated

cylinderical container �lled with water, the level of the

liquid rises from 10 ml to 20 ml. Calculate the mass of

each water drop.

Watch Video Solution

https://dl.doubtnut.com/l/_V8eGSOrsMrpF
https://dl.doubtnut.com/l/_WkVqmaoSD0Bw


4. The density of a substance is 5kg per litre. Express it in

Watch Video Solution

g cm − 3

5. Give few examples from day to day life, where phyics is

employed.

Watch Video Solution

6. How is the volume of a regular solid determined?

Watch Video Solution

https://dl.doubtnut.com/l/_NwjCfhLOk2gy
https://dl.doubtnut.com/l/_K1gZ6A98SFJW
https://dl.doubtnut.com/l/_0fCQz0F6yVVg
https://dl.doubtnut.com/l/_l7qOl1BiKBTG


7. A density bottle weighs 100 g when �lled with liquid

and 80 g when �lled with water. If the weight of an empty

density bottle is 20 g, �nd the density of the liquid.

Watch Video Solution

8. The volume fo mercury and water is 50 ml each. What is

the ratio of their mass, if their densities are in the ratio

68:5?

Watch Video Solution

9. Find the density of cuboid of dimesions

 and having mass 1 kg in SI system.

W t h Vid S l ti

3cm × 5cm × 7cm

https://dl.doubtnut.com/l/_l7qOl1BiKBTG
https://dl.doubtnut.com/l/_lVs3JV2rMGPK
https://dl.doubtnut.com/l/_H8fRNYr4iSa2


Watch Video Solution

10. What is a density bottle?

Watch Video Solution

11. What are the uses of tringulation method?

Watch Video Solution

12. Explain how the ventilation in a room is possible

Watch Video Solution

https://dl.doubtnut.com/l/_H8fRNYr4iSa2
https://dl.doubtnut.com/l/_Z2PgxADXAOdT
https://dl.doubtnut.com/l/_m25NvcIVPbkm
https://dl.doubtnut.com/l/_QRuhSmQoMvgV


13. Explain why a �ame point is in the upward direction.

Watch Video Solution

14. Find thhe mass of 1  of gold in kg when density of

gold is 19 g .

Watch Video Solution

m3

cm− 3

15. If 5 kg of glycerine occupies , determine the

density in 

Watch Video Solution

0.004m3

g cm − 3  and kg m − 3.

https://dl.doubtnut.com/l/_oNsQnmnPnumA
https://dl.doubtnut.com/l/_7LIfYbCiuwDq
https://dl.doubtnut.com/l/_ICdsEUxoqSsS
https://dl.doubtnut.com/l/_Z46jhwpBJhlt


Test Your Concepts Essay Type Questions

16. Take two cubes each of side 4 cm made up of iron and

aluminium. Why is there di�erence in masses of two

cubes inspite of having same volume.

Watch Video Solution

1. Explain the steps through which science is applied.

Watch Video Solution

2. Describe how triangulation method is used to measure

large distnaces, by taking suitable example.

h id l i

https://dl.doubtnut.com/l/_Z46jhwpBJhlt
https://dl.doubtnut.com/l/_0laYuLpEtgOU
https://dl.doubtnut.com/l/_5GFcHLwpiziJ


Watch Video Solution

3. With the help of suitable example, explain how science

is applied.

Watch Video Solution

4. When half of the total volume of an empty beaker of

mass 100 g is �lled with water, its mass is found to be 500

g and when the remaining volume of the beaker is �lled

with a liquid, its mass is found to be 1 kg. Calculate the

density of the liquid.

Watch Video Solution

https://dl.doubtnut.com/l/_5GFcHLwpiziJ
https://dl.doubtnut.com/l/_mvYVBv6dZYxN
https://dl.doubtnut.com/l/_2GQc7BEQings
https://dl.doubtnut.com/l/_Oev0ToTwWxQX


5. Bring out the di�erecnes between the mass and the

weight of a body.

Watch Video Solution

6. What is a density bottle?

Watch Video Solution

7. Test tube A contains 10 ml of liquid X and test tube B

contains a liquid Y of volume 50 ml. the ratio o the

density of Y to X is 2:5. Compare the mass of liquid A and

B.

Watch Video Solution

https://dl.doubtnut.com/l/_Oev0ToTwWxQX
https://dl.doubtnut.com/l/_ETBKDeFTaA9W
https://dl.doubtnut.com/l/_ojekb0g0Pvyl


Concept Application Level 1

8. Wriite CGS unit and SI unit for given following physical

quantities: 

(a) Area, (b) Volume 

(c) Density, (d) Velocity speed 

(e) Acceleration, (f) force 

(g) Weight, (h) pressure 

(i) Temperature, (j) Energy.

Watch Video Solution

1. SI unit of volume is cubic metre.

https://dl.doubtnut.com/l/_ojekb0g0Pvyl
https://dl.doubtnut.com/l/_lMXBlsFklPH6
https://dl.doubtnut.com/l/_nQ5qhvY0NBxC


Watch Video Solution

2. Correct the following. 

1m = 1000 cm

Watch Video Solution

3. Mass of a given substance does not change with

change in position or location.

Watch Video Solution

4. SI unit of weight is Newton.

Watch Video Solution

https://dl.doubtnut.com/l/_nQ5qhvY0NBxC
https://dl.doubtnut.com/l/_HskhzVeJLjbz
https://dl.doubtnut.com/l/_1vuhlCRNBPRV
https://dl.doubtnut.com/l/_Rw5jaQ0qmRwT


5. Mass of a body cannot be zero.

Watch Video Solution

6. As the temperature of gases increases, its density also

increase.

Watch Video Solution

7.  is a unit of density.

Watch Video Solution

kg  1− 1

https://dl.doubtnut.com/l/_Rw5jaQ0qmRwT
https://dl.doubtnut.com/l/_5DQXzHwpmwEF
https://dl.doubtnut.com/l/_2lcakgRoUdbj
https://dl.doubtnut.com/l/_E1MtrVjcqFQk
https://dl.doubtnut.com/l/_9lkqhu3s9DVY


Concept Application Level 1 Fill In The Blanks

8. Triangulation method is used for measuring very long

distances.

Watch Video Solution

9. Density of keerosene is less than the density of water.

Watch Video Solution

1. The method of measuring distance by forming a ______ is

called tringulation method.

Watch Video Solution

https://dl.doubtnut.com/l/_9lkqhu3s9DVY
https://dl.doubtnut.com/l/_SUjlGy63I9Zs
https://dl.doubtnut.com/l/_gLcEwvQliSdM


2. SI unit of area is____

Watch Video Solution

3. The SI unit of density is:

Watch Video Solution

4. The weight of a body can be zero when ____acts on it.

Watch Video Solution

5. What is the Si unit of energy?

https://dl.doubtnut.com/l/_gLcEwvQliSdM
https://dl.doubtnut.com/l/_v4aamYpiahjk
https://dl.doubtnut.com/l/_Qludtuw6fB5E
https://dl.doubtnut.com/l/_cggxIIzm2rli
https://dl.doubtnut.com/l/_ffbL2g9jHQzU


Watch Video Solution

6. Mass of 1 ml water is_____g.

Watch Video Solution

7. ______is the force with which the earth pulls a body

towards its centre.

Watch Video Solution

8. Density of a liquid can be measured by using______.

Watch Video Solution

https://dl.doubtnut.com/l/_ffbL2g9jHQzU
https://dl.doubtnut.com/l/_7uxcdBPCtLRw
https://dl.doubtnut.com/l/_VvVI3fPrmEsR
https://dl.doubtnut.com/l/_wl9OUdAkNTeN


Concept Application Level 1 M C Q

1. An atlas of India is drawn by taking scale 10 cm=15000

km. If the actual distance between the cities of Bhopal

and cochin is 1500 km, the distance between the two

places in the atlas will be_____cm.

Watch Video Solution

2. Sea breeze is due to thhe change in density of air

with_____.

A. change in temperature

B. change in pressure

https://dl.doubtnut.com/l/_wJU5gQeftWNC
https://dl.doubtnut.com/l/_TKCf1tfEma2G


C. change in wind

D. change in wheather condition

Answer: A

Watch Video Solution

3. Density of a liquid can be measured by using______.

A. spring balance

B. measuring cylinder

C. density bottle

D. physical balance

Answer: C

https://dl.doubtnut.com/l/_TKCf1tfEma2G
https://dl.doubtnut.com/l/_RQkE62Du65YE


Watch Video Solution

4. The area of a circle whose radius is 10 cm is _____.

A. 

B. 

C. 

D. Both a and b

Answer: A

Watch Video Solution

314cm2

314m2

3.1415m2

https://dl.doubtnut.com/l/_RQkE62Du65YE
https://dl.doubtnut.com/l/_kb2FAd5AqwqF


5. If the area of a square �eld is 100 , then the length

of the side is______

A. 1cm

B. 1m

C. 0.1m

D. 10m

Answer: C

Watch Video Solution

cm2

6. The density of water at  is:4∘C

https://dl.doubtnut.com/l/_0TgGWVsrbcpA
https://dl.doubtnut.com/l/_JQfDfOh6defX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1gcm− 3

1000kgcm− 3

1000gcm− 3

1kgcm− 3

7. Which among the following is the unit of density?

A. 

B. 

C. 

kgm− 3

gm− 3

kgcm− 3

https://dl.doubtnut.com/l/_JQfDfOh6defX
https://dl.doubtnut.com/l/_yoeDDJqYq0kK


D. All of the above

Answer: D

Watch Video Solution

8. Unit of weight is (are)_____.

A. N

B. gf

C. kg f

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yoeDDJqYq0kK
https://dl.doubtnut.com/l/_wiKETdbuxZto


9. A ball is placed between two wooden blocks as shown

in the �gure. The volume of the sphere is…………….

A. 

B. 

C. 

D. 

6.54cm3

1.15cm3

2.14cm3

2.14cm3

https://dl.doubtnut.com/l/_wiKETdbuxZto
https://dl.doubtnut.com/l/_bczgAA4on56W


Answer: B

Watch Video Solution

10. The density o a substance in CGS system is 4 g .

Its density in SI system is____ kg .

A. 4

B. 40

C. 400

D. 4000

Answer: D

Watch Video Solution

cm− 3

m− 3

https://dl.doubtnut.com/l/_bczgAA4on56W
https://dl.doubtnut.com/l/_3GejLaHXkmgg


11. The volume of a body having density 1 g  and

mass 100 g is _____ .

A. 100

B. 50

C. 

D. 

Answer: A

Watch Video Solution

cm− 3

cm3

1

100

1

50

12. A cylinder of height 1 m and radius 10 cm is fully �lled

with water, the volume of water is _____ .m3

https://dl.doubtnut.com/l/_3GejLaHXkmgg
https://dl.doubtnut.com/l/_Q8Z7mM1lPGr2
https://dl.doubtnut.com/l/_I0MIEDtEfbmN


A. 3.14

B. 0.314

C. 0.0314

D. 314

Answer: C

Watch Video Solution

13. 1000 kg of water occuplies

A. 11

B. 0.51

C. 10001

https://dl.doubtnut.com/l/_I0MIEDtEfbmN
https://dl.doubtnut.com/l/_8At8mYoG8Mrx


D. 0.75KI

Answer: C

Watch Video Solution

14. 1 hectare = 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1000m2

102

103

104

105

https://dl.doubtnut.com/l/_8At8mYoG8Mrx
https://dl.doubtnut.com/l/_levid5zowRNs


15. 

A. 100

B. 1/100

C. 1000

D. 1/1000

Answer: D

Watch Video Solution

1 kg m − 3 = ……. . g cm − 3

16. If the smallest measurement that can be measured by

using a scale is 0.1 mm, then the length of 1 m in the scale

https://dl.doubtnut.com/l/_levid5zowRNs
https://dl.doubtnut.com/l/_uILm0Hyl3Xid
https://dl.doubtnut.com/l/_U21OEyQ1FQAm


is divided inot __________ equal parts.

A. 1000

B. 5000

C. 10000

D. 50000

Answer: C

Watch Video Solution

17. Which of the following scale gives more accurate

reading?

https://dl.doubtnut.com/l/_U21OEyQ1FQAm
https://dl.doubtnut.com/l/_qziZADbTXLWs


A. One metre in a scale is divided into 1000 equal

parts.

B. One cm in a scale is divided into 100 equal parts.

C. One mm in a scale is divided into 2 equal parts.

D. One mm in a scale is divided into 5 equal parts.

Answer: B

Watch Video Solution

18. Which among the followig is the unit of heat?

A. Calorie

B. Kelvin

https://dl.doubtnut.com/l/_qziZADbTXLWs
https://dl.doubtnut.com/l/_YJofw5Ly6oLw


C. Degree centigrade

D. All of the above

Answer: A

Watch Video Solution

19. Which of the following statement is wrong?

A. The mass of a body can be measured by using a

beam balance.

B. The weight of a body can be measured by using a

spring balance.

https://dl.doubtnut.com/l/_YJofw5Ly6oLw
https://dl.doubtnut.com/l/_SFRVDqD5jRiv


C. The mass of a body can be measured by using a

spring balance

D. The weight of a body cannot be measured by using

a beam balance.

Answer: C

Watch Video Solution

20. The width of a stream is determined with the help of

triangulation method. Arrange the following steps in a

sequence to explain the process to �nd the width. 

(A) Fix a certain stationary object like tree on the other

bank of the stream. 

https://dl.doubtnut.com/l/_SFRVDqD5jRiv
https://dl.doubtnut.com/l/_2K7MAyweEbKP


(B) Take two pins  at

one vertex of the drawing board such that pins and tree

are on the same straight line. 

(C) Select two positions (say A and B) on the ground and

the horizontal distance between them is noted. Let ir be

"D m. 

(D) Repeat the same process at position 'B' with other two

pins  at other vertex of the drawing board.  

(E) Take a drawing board and paste a white paper on it. 

(F) Fix the board at position A' such that one edge is

directed along AB. 

(G) Now, produce two straight lines and let them meet at

point 'P'. Complete the triangle with P. 

Measure the distance between  say d. Then 

gives the actual distance on ground for every one em on

(P1 and P2)  and fix P1 and P2

(P3 and P4)

P1 and P2

P1 and P3
D

d

https://dl.doubtnut.com/l/_2K7MAyweEbKP


the drawing board. 

(H) Now the width of the river will be equal to the

distance from midpoint of  (let it be 

.

A. EACFBDGH

B. EABCDFHG

C. EDCBAFGH

D. ABCDEFGH

Answer: A

View Text Solution

P1 and P3

P5  and P multiplied by 
D

d

https://dl.doubtnut.com/l/_2K7MAyweEbKP


21. A density bottle weighs 120 g and 100 g when �lled

completely with oil ad water, respectively. If the weight of

a empty density bottle is 40g, then arrange the following

steps in sequence meant to solve the problem to get the

density of oil 

(A). The density of the oil 

  

  

(B). Let the weight of the bottle +oil=   

and the weight of the bottle+water =   

100g, where bottle is completely �lled with liquid, i.e., oil

or water. 

(C). Let the weight of the empty bottle   

(D). The the weight of the oil ad water would be equal to

, respectively.

D = =
Mass of the oil

Weight of the water

Mass of the oil

Mass of the water

= =
Weighht of oil

Weight of the water

W3 − W1

W2 − W1

W3 = 120g

W2

= W1 = 40g

(W3 − W1) and (W2 − W1)

https://dl.doubtnut.com/l/_FC7v6rbODvfH


Concept Application Level 1 Match The Column

A. CBDA

B. ABCD

C. BADC

D. DCBA

Answer: A

Watch Video Solution

1. Match the entries given in Column A with the

appropriate ones in Column B.

https://dl.doubtnut.com/l/_FC7v6rbODvfH
https://dl.doubtnut.com/l/_CwLGy1gBjy4n


Watch Video Solution

2. Match the entries given in Column A with the

appropriate ones in Column B.

https://dl.doubtnut.com/l/_CwLGy1gBjy4n
https://dl.doubtnut.com/l/_cCoLH0e5QKNk


 

Watch Video Solution

3. Match the entries given in Column A with the

appropriate ones in Column B.

https://dl.doubtnut.com/l/_cCoLH0e5QKNk
https://dl.doubtnut.com/l/_7O68totIs1cu


Concept Application Level 2

 

Watch Video Solution

https://dl.doubtnut.com/l/_7O68totIs1cu


1. A stone of density  Kg  and mass 2 kg is

immeresed into a liquid, inside a graduted cylinder. The

reading on the graduated cylinder is before the

stone is immersed into it, the reading after the stone is

immersed in it is   .

A. 14000

B. 500

C. 5000

D. 1400

Answer: D

Watch Video Solution

5 × 103 m− 3

1000cm3

________ cm3

https://dl.doubtnut.com/l/_dFMWP3qbnL3i
https://dl.doubtnut.com/l/_BmKR1HeOwPl4


2. The weight of the givensolid cylinder rodis 2512 N. 

The density of the body is  Kg .  

 

A. 2512

B. 

C. 

D. 

Answer: D

________ m− 3

(takeg = 10ms− 2)

25 × 12

103

106

https://dl.doubtnut.com/l/_BmKR1HeOwPl4


Watch Video Solution

3. The mass of a density bottle when it is �lled with a

liquid of density 3000 kg  is 400 g and the mass of

the bottle when it is �lled with water is 200 g. The mass of

the empty density bottle is  g.

A. 10

B. 100

C. 50

D. 500

Answer: B

Watch Video Solution

m− 3

__________

https://dl.doubtnut.com/l/_BmKR1HeOwPl4
https://dl.doubtnut.com/l/_qXKUymcurb0H


4. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 g m − 3 = …………. kg cm − 3

109

106

10− 6

10− 9

5. In a particular scale A, one metreis divided into

500equal parts and in scale B one cm is divided into 5

https://dl.doubtnut.com/l/_qXKUymcurb0H
https://dl.doubtnut.com/l/_3EKtZiwV7SsF
https://dl.doubtnut.com/l/_UkPt176qhMw6


equal parts and in scale C one mm is divided into 2 equal

parts, then the accuracy of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

________

A > B > C

A = B < C

A = B > C

A = B = C

6. A wire is wound over a pencil and placed over a scale as

shown in the �gure. The diameter of the given wire is

https://dl.doubtnut.com/l/_UkPt176qhMw6
https://dl.doubtnut.com/l/_E85kDlVaWGQB


. 

A. 1.45cm

B. 2.9mm

C. 2.9m

D. 1.45mm

Answer: D

Watch Video Solution

________

https://dl.doubtnut.com/l/_E85kDlVaWGQB


7. If the radius of a sphere is doubled, then the density of

the sphere is  times its original value.

A. 

B. 2

C. 4

D. 

Answer: D

Watch Video Solution

________

1/2

1/8

https://dl.doubtnut.com/l/_aMfLJ4lGP8de


8.  

A paper cutting is placedon a graph as shownin the

�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. 378

B. 186

C. 312

_________ Cm2

https://dl.doubtnut.com/l/_DtPnYIOWE4TT


D. 156

Answer: C

Watch Video Solution

9. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

A. 2

B. 2000

C. 3.5

D. 3500

_________ m− 3

https://dl.doubtnut.com/l/_DtPnYIOWE4TT
https://dl.doubtnut.com/l/_r2m2A7KuUr3F


Answer: B

Watch Video Solution

10.  

The density of the solid cylindrical bar shown in the �gure

https://dl.doubtnut.com/l/_r2m2A7KuUr3F
https://dl.doubtnut.com/l/_5bUtg1kG1h8t


is  kg  . The weight of the bar is  N.

(take g=10 m 

A. 157

B. 1570

C. 320

D. 3.2

Answer: A

Watch Video Solution

5 × 103 m− 3 _________

s2

11. The readings in a graduated cylinder are  and

, respectively, before and after a metal alloy piece of

10cm3

20cm3

https://dl.doubtnut.com/l/_5bUtg1kG1h8t
https://dl.doubtnut.com/l/_eumNrOg9RdTI


mass 200 g is put in it. Thedensity of the material of the

alloy is kg 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

________ m− 3

2 × 103

2 × 104

2 × 105

2 × 106

12. A stock of identical coins are placed on a scale as

shown in the �gure. The thickness of a coin is  _______

https://dl.doubtnut.com/l/_eumNrOg9RdTI
https://dl.doubtnut.com/l/_Ak4ziBFwZL1U


A. 1.8cm

B. 18mm

C. 1.8mm

D. 0.18m

Answer: C

Watch Video Solution

13. If the density of a sphere is reduced to  of its

original value, then the radius of the sphere is 

1/8

_________

https://dl.doubtnut.com/l/_Ak4ziBFwZL1U
https://dl.doubtnut.com/l/_wq8kTXoBiyrB


times its original radius (assume that there is no change

in mass). S

A. 2

B. 4

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/4

https://dl.doubtnut.com/l/_wq8kTXoBiyrB


14.  

A paper cutting is placed on a graph a as shown in the

�gure, each division on the X and Y axes represents a

distance o� 1 cm. The area of the paper cutting is

 .

A. 100

B. 112

__________ cm2

https://dl.doubtnut.com/l/_Z1heXXX4czws


C. 93

D. 96

Answer: C

Watch Video Solution

15. Density of the material of a paper is o.4g .The

mass of the paper is 0.5 g and its length and breadth are

10 cm and 4 cm, respectively. Determine the thickness of

the paper.

Watch Video Solution

cm− 3

https://dl.doubtnut.com/l/_Z1heXXX4czws
https://dl.doubtnut.com/l/_fi3m8Q6btHHO


16. If the length, breadth and height of a cuboid are all

increased to 'n'times their original values of 'n'.

Watch Video Solution

17. A wooden block is tied to a metallic rod of mass 100 g

and immersed completely in water. When the displaced

water is collected in a measuring jar, the volume of the

liquid displaced is found to be 400 ml. If the density of

the metallic rod is  and the mass of the

wooden block is 300 g, determine the density of the

wooden block.

View Text Solution

5 g cm, − 3

https://dl.doubtnut.com/l/_nA9yjbKqMzdL
https://dl.doubtnut.com/l/_Z7fJJTdgizVF
https://dl.doubtnut.com/l/_65Zeb89DJreG


18. A student was given a task to �nd the destiny of a cube

whose mass and side are 100 g and 5 cm, respectively.

What is his answer?

Watch Video Solution

19. A physics student was given a 400 pages book and a

metre scale and asked to measure the thickness of the

paper in the book. Explain how can he measure it.

Watch Video Solution

20. A wire wound over a rod and placed over a scale, as

shown in �gure. Calculate the radius of the wire. 

https://dl.doubtnut.com/l/_65Zeb89DJreG
https://dl.doubtnut.com/l/_30k1QpzApD0o
https://dl.doubtnut.com/l/_5yQaWZPGyMyw


Watch Video Solution

21. A student took a spring balance calibrated in gf. He

then suspended an object of mass 1 kg to the spring

balance. Determine what would be the reading of the

spring balance.

Watch Video Solution

22. A physics scholar took two spring balances 

that are calibrated on the surface of the Moon and the

S1 and S2

https://dl.doubtnut.com/l/_5yQaWZPGyMyw
https://dl.doubtnut.com/l/_NpjGsuxDPovT
https://dl.doubtnut.com/l/_1AYdQK5Sito0


Earth, respectively. He then weight a body using both

 at a given place on the surface of the Earth. He

determined the ratio of the readings. What is the ratio?

Watch Video Solution

S1 and S2

23. A scientist took a physical balance and an object of

weight 10 kgwt from the Earth to the surface of the Moon.

There on the Moon, if he placed this 10 kgwt object on

one of the pansof physical balance, �nd the mass of the

object required to balance the physical balance.

Watch Video Solution

https://dl.doubtnut.com/l/_1AYdQK5Sito0
https://dl.doubtnut.com/l/_YofI9hR2grVa


Concept Application Level 3

24. The change in volume of a gas with change in

temperature is plotted on a graph, as shown in he �gure.

Calculate the ratio of density at  

Watch Video Solution

50∘C and 100∘C

https://dl.doubtnut.com/l/_3mNyEqkLK7aJ
https://dl.doubtnut.com/l/_J9Wi0ouFoutH


1. Ram took an empty density bottle and a weighing

machine. He measures the density bottle and a weighing

machine. He measures the empty bottle and found it to

be 40 .g. He then completely �lled it with water and

weighed it to be 100 g. With this data can he calculate the

capacity of the density bottle? If so, what is its capacity

Watch Video Solution

2. The densities fo three substances A, B and C are given

below. If equal voumes of A, B and C are taken, arrange

https://dl.doubtnut.com/l/_J9Wi0ouFoutH
https://dl.doubtnut.com/l/_NkZ5QjQgMBk0


then in increasing order of their masses. 

Watch Video Solution

3. Triangulation method is used to determine the distance

between two places A and C. A triangle obtained to a

reduced scale is as shown below The ratio of the actual

distances from C to another place B: and A to B is 5.

Determine the distance between A and C. The actual

https://dl.doubtnut.com/l/_NkZ5QjQgMBk0
https://dl.doubtnut.com/l/_bCONUAdWYP2C


distance between B and C is 20 km. 

Watch Video Solution

4. The weight of a body on the earth is 500 gf. The volume

of water displaced when it is immersed in water in

. Determine the density of the material fo the body.

h id l i

250cm3

https://dl.doubtnut.com/l/_bCONUAdWYP2C
https://dl.doubtnut.com/l/_iPfDvDYoAcjY


Watch Video Solution

5. Ram took an empty ballon of mass 5 g and �lled it with

air. He then measured the mass of ballon �lled with air

tube to be 5.05 g. He considered the density of the air

�lled inside th ballon as  and found the

volume of air present inside the ballon. Find his answer.

Watch Video Solution

1.5   kg m− 3

6. Two identical containers A and B are �lled with two

di�erent liquids of equal masses. The level of the liquid in

container A is found to be one-fourth of the level of the

liquid in container B. What is the ratio of thedensity of

two liquids? If the density of he liquid in the container A

https://dl.doubtnut.com/l/_iPfDvDYoAcjY
https://dl.doubtnut.com/l/_NlbYPQts7GmI
https://dl.doubtnut.com/l/_EtXE1xLjqFCp


is 2 " g " , then �nd the density of the mixture of the

two liquids.

Watch Video Solution

cm− 3

7. Three places A,B and C form the vertices of a triangle. A

triangle to reduced scale is drawn as shown below. If the

actual distance between A nd C is 200 km, determine the

https://dl.doubtnut.com/l/_EtXE1xLjqFCp
https://dl.doubtnut.com/l/_Aro32GgEzWND


actual distance from Ato B and B to C,. 

Watch Video Solution

8. Two persons A and B are 40 m apart. Triangulation

method was used to measure the distance obtained is

place C and the person A. The triangle obtained is as

https://dl.doubtnut.com/l/_Aro32GgEzWND
https://dl.doubtnut.com/l/_nbNiCuw6dNnU


shown. The triangle is drawn from the positions of A and

B and the vertices P, Q and R correspond to the position

of A, B and the palce C, respectively. Determine the

distance between the person A and the place C. 

Watch Video Solution

https://dl.doubtnut.com/l/_nbNiCuw6dNnU


9. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

Watch Video Solution

_________ m− 3

10. Ram and Shyam were given cube A and cube B both

having same mass, respectively. The side of cube A is three

times that of the cube B. Ram and Shyam found the

densities of A and B. What is the ratio of densities of A

and B?

Watch Video Solution

https://dl.doubtnut.com/l/_WrxvLLhMECgx
https://dl.doubtnut.com/l/_ecbXwRgzo4VD


Assessment Test Test 1

1.  

A paper cutting is placedon a graph as shownin the

�gure, each on he X and Y axes represens a distance of2

cm. The area of the paper cutting is  .

A. 378

B. 186

_________ Cm2

https://dl.doubtnut.com/l/_2Cq11NYtBe9s


C. 312

D. 156

Answer: C

Watch Video Solution

2. A wire is wound over a pencil and placed over a scale as

shown in the �gure. The diameter of the given wire is

. 

A. 1.45cm

________

https://dl.doubtnut.com/l/_2Cq11NYtBe9s
https://dl.doubtnut.com/l/_mmq4UVdMKSDp


B. 2.9cm

C. 2.9m

D. 1.45mm

Answer: D

Watch Video Solution

3. Match the following 

A. A-b, B-a, C-d, D-c

https://dl.doubtnut.com/l/_mmq4UVdMKSDp
https://dl.doubtnut.com/l/_xUsjRzR1x8Ci


B. A-b, B-d, C-a, D-c

C. A-c, B-d, C-b, D-a

D. A-a, B-c, C-b, D-d

Answer: A

Watch Video Solution

4. Assertion (A) : The weight of a body changes with

altitude. 

Reason (R ): The accelaration due to gravity changes with

altitude.

A. Both A and R are true and R is the corect

explanation of A.

https://dl.doubtnut.com/l/_xUsjRzR1x8Ci
https://dl.doubtnut.com/l/_aWqh4sTxr7kL


B. Both A and R are true and R is not the corect

explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

5. Assertion (A): The liquid displaced by a solid cube of a

side 3 cm when completely immersed in the liquid is more

than displaced by a solid cube of side 2 cm. 

Reason (R ) : The liquid displaced by a solid increases with

increase in the volume of the solid.

https://dl.doubtnut.com/l/_aWqh4sTxr7kL
https://dl.doubtnut.com/l/_8dydNMDnUSTI


A. Both A and R are true and R is the corect

explanation of A.

B. Both A and R are true and R is not the corect

explanation of A.

C. A is true but R is false.

D. Both A and R are false.

Answer: A

Watch Video Solution

6. The densities of two liquids A and B are in the ratio

 If their masses are equal, write the following steps15: 2

https://dl.doubtnut.com/l/_8dydNMDnUSTI
https://dl.doubtnut.com/l/_MhUjwET3ozGY


in a sequential order to determine the ratio of their

volumes.

A. bacd

B. bcda

C. adbc

D. abcd

Answer: A

Watch Video Solution

7. Density of water is ...… .

A. adcb

(10 g cm − 3 /1 g cm − 3)

https://dl.doubtnut.com/l/_MhUjwET3ozGY
https://dl.doubtnut.com/l/_rZ7CwY1cV6No


B. cbda

C. abdc

D. adbc

Answer: D

Watch Video Solution

8. Which of the following statements is/are incorrect

A. The weight of a body can be zero.

B. The weight of a body can be greater than zero.

C. The mass of a body can be zero.

D. Both a and c

https://dl.doubtnut.com/l/_rZ7CwY1cV6No
https://dl.doubtnut.com/l/_NDITD7EAmSUv


Answer: C

Watch Video Solution

9. The mass of an empty density bottle is 50 g. When it is

completely �lledwith water, its mass is foundto be 100 g

and when itiscompletly �lledwith aliquid,its mass is 150 g.

The density of the liquid is  kg .

A. 2

B. 2000

C. 3.5

D. 3500

Answer: B

_________ m− 3

https://dl.doubtnut.com/l/_NDITD7EAmSUv
https://dl.doubtnut.com/l/_1MRE96yavIxL


Watch Video Solution

10. The whole length of a metre scale is divided into 500

equal parts then the smallest measurement that can be

measured by using the scale is .

A. 0.5m

B. 0.005m

C. 50mm

D. 2mm

Answer: D

Watch Video Solution

_______

https://dl.doubtnut.com/l/_1MRE96yavIxL
https://dl.doubtnut.com/l/_Err8GbDNVnWy
https://dl.doubtnut.com/l/_rV1cq9S9sfC0


11. Which among the following is (are) the units(s) of

pressure?

A. 

B. 

C. 

D. All of the above

Answer: D

Watch Video Solution

Nm− 2

gwtcm− 2

kgwtm− 2

12. In a particular scale A, one metreis divided into

500equal parts and in scale B one cm is divided into 5

https://dl.doubtnut.com/l/_rV1cq9S9sfC0
https://dl.doubtnut.com/l/_JMyB3tAMnX9I


equal parts and in scale C one mm is divided into 2 equal

parts, then the accuracy of .

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

________

A > B > C

A = B < C

A = B > C

A = B = C

13. If radius of the earth is doubled without change in its

mass, what will be the length of the day?

https://dl.doubtnut.com/l/_JMyB3tAMnX9I
https://dl.doubtnut.com/l/_YrfzBPXVOW5O


A. 

B. 2

C. 4

D. 

Answer: D

Watch Video Solution

1/2

1/8

https://dl.doubtnut.com/l/_YrfzBPXVOW5O


14.  

The density of the solid cylindrical bar shown in the �gure

is  kg  . The weight of the bar is  N.

(take g=10 m 

A. 157

B. 1570

5 × 103 m− 3 _________

s2

https://dl.doubtnut.com/l/_PSW6OGr0zZjs


C. 320

D. 3.2

Answer: A

Watch Video Solution

15. What is the distance OA for the square shown in �gure

:- 

A. 35km

B. 3500m

C. 350km

https://dl.doubtnut.com/l/_PSW6OGr0zZjs
https://dl.doubtnut.com/l/_apCsz7QPxmVH


Assessment Test Test 2

D. Both a and b

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_apCsz7QPxmVH


1.  

A paper cutting is placed on a graph a as shown in the

�gure, each division on the X and Y axes represents a

distance o� 1 cm. The area of the paper cutting is

 .

A. 100

B. 112

__________ cm2

https://dl.doubtnut.com/l/_cAoCd9ldd1rZ


C. 93

D. 96

Answer: C

Watch Video Solution

2. A stock of identical coins are placed on a scale as shown

in the �gure. The thickness of a coin is  

A. 1.8cm

B. 18cm

_______

https://dl.doubtnut.com/l/_cAoCd9ldd1rZ
https://dl.doubtnut.com/l/_iL27GZurJu3n


C. 1.8mm

D. 0.18m

Answer: C

Watch Video Solution

3. Match the following 

A. A-a, B-b, C-c, D-d

B. A-d, B-c, C-b, D-a

https://dl.doubtnut.com/l/_iL27GZurJu3n
https://dl.doubtnut.com/l/_2Z5I0iYblnIn


C. A-d, B-a,C-b, D-c

D. A-d, B-b, C-c, D-a

Answer: C

Watch Video Solution

4. Assertion (A): The masss of  of iron is greater

than the mass of 150 m^(3) of wood.

Reason (R): The densiy of iron is less than the density of

wood.

A. Both A and R are true and R is the correct

explanation of A.

150m3

https://dl.doubtnut.com/l/_2Z5I0iYblnIn
https://dl.doubtnut.com/l/_gpqsjmvkEUJS


B. Both A and R are true, but R is not the correct

explanation of A.

C. A is true but R is false.

D. Both A and R are false.z

Answer: C

Watch Video Solution

5. Assertion (A) : The magnitude of volume of any liquid is

equal to the magnitude of its mass what measured in CGS

system. 

Reason (R ) : Density of the liquid = mass of the liquid 

volume of the liquid.

×

https://dl.doubtnut.com/l/_gpqsjmvkEUJS
https://dl.doubtnut.com/l/_bHsCfiZDm5rC


A. Both A and R are true and R is the correct

explanation of A.

B. Both A and R are true, but R is not the correct

explanation of A.

C. A is true but R is false.

D. Both A and R are false.z

Answer: D

Watch Video Solution

6. Assertion (A): The liquid displaced by a solid cube of a

side 3 cm when completely immersed in the liquid is more

than displaced by a solid cube of side 2 cm. 

https://dl.doubtnut.com/l/_bHsCfiZDm5rC
https://dl.doubtnut.com/l/_4n4jkLhhpok7


Reason (R ) : The liquid displaced by a solid increases with

increase in the volume of the solid.

A. adbc

B. cbad

C. bacd

D. bdca

Answer: C

Watch Video Solution

7. The unit of force in SI system is newton and it is given

as 1 newton = . In CGS system its unit is dyne

and it is given as 1 dyne = 1 g cm s^(2). Arrange the

1kgms− 2

https://dl.doubtnut.com/l/_4n4jkLhhpok7
https://dl.doubtnut.com/l/_Kf6vbCucA9iI


following steps in a sequential order to relate the SI unit

and CGS unit of force. 

(a) Write the conversations of kg and m, into g and cm,

respectively. 

(b) Substitute the conversations in 1 newton = 

Write the relation between 1 newton and dyne. 

(d) Write in place of 1 g cm s^(-2) as 1 dyne

A. acbd

B. abdc

C. bdac

D. cdab

Answer: B

Watch Video Solution

1kgms2

https://dl.doubtnut.com/l/_Kf6vbCucA9iI


8. Which of the following statement is wrong?

A. The mass of a body can be measured by using a

beam balance.

B. The weight of a body can be measured by using a

spring balance.

C. The density of a body can be measured by using a

spring balance.

D. The weight of a body cannot be measured by using

a beam balance.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Kf6vbCucA9iI
https://dl.doubtnut.com/l/_tpgTZodKDFqy


Watch Video Solution

9. The mass of a density bottle when it is �lled with a

liquid of density 3000 kg  is 400 g and the mass of

the bottle when it is �lled with water is 200 g. The mass of

the empty density bottle is  g.

A. 10

B. 100

C. 50

D. 500

Answer: B

Watch Video Solution

m− 3

__________

https://dl.doubtnut.com/l/_tpgTZodKDFqy
https://dl.doubtnut.com/l/_12wsYu138jkn
https://dl.doubtnut.com/l/_w9PUHyGjZ7Y0


10. If the smallest measurement that can be measured by

using a scale is 0.1 mm, then the length of 1 m in the scale

is divided inot __________ equal parts.

A. 1000

B. 5000

C. 10000

D. 50000

Answer: C

Watch Video Solution

11. Which among the folloeing is the unit of energy?

https://dl.doubtnut.com/l/_w9PUHyGjZ7Y0
https://dl.doubtnut.com/l/_6Fol6Zagf4ak


A. joule

B. watt

C. newton

D. All of the above

Answer: A

Watch Video Solution

12. Which of the following scale gives more accurate

reading?

A. One metre in a scale is divided into 1000 equal

parts.

https://dl.doubtnut.com/l/_6Fol6Zagf4ak
https://dl.doubtnut.com/l/_dHtSCMvWc13f


B. One cm in a scale is divided into 2 equal parts.

C. One mm in a scale is divided into 2 equal parts.

D. One cm in a scale is divided into 5 equal parts.

Answer: C

Watch Video Solution

13. If the density of a sphere is reduced to  of its

original value, then the radius of the sphere is 

times its original radius (assume that there is no change

in mass). S

A. 2

B. 4

1/8

_________

https://dl.doubtnut.com/l/_dHtSCMvWc13f
https://dl.doubtnut.com/l/_8bux5f8im3lr


C. 

D. 

Answer: A

Watch Video Solution

1/2

1/4

14. The weight of the givensolid cylinder rodis 2512 N. 

The density of the body is  Kg .  

 

________ m− 3

(takeg = 10ms− 2)

https://dl.doubtnut.com/l/_8bux5f8im3lr
https://dl.doubtnut.com/l/_G9Bg3iwKUT34


A. 2512

B. 

C. 

D. 

Answer: D

Watch Video Solution

25 × 12

103

106

https://dl.doubtnut.com/l/_G9Bg3iwKUT34

